

SHROPSHIRE COUNTY CRICKET CLUB

When and where to see the County in action in 1988: •

Minor Counties Fixtures :

Mon./Tues., 30th-31st May v. Dorset (Dorchester) Sun./Mon., 12th-13th June v. Wales (Colwyn Bay) Sun./Mon., 26th-27th June v. Cheshire (Toft) Tues./Wed., 12th-13th July v. Buckinghamshire (Bridgnorth) Sun./Mon., 17th-18th July v. Berkshire (Shrewsbury) Tues./Wed., 9th-10th Aug. v. Oxfordshire (Wellington) Mon./Tues., 15th-16th Aug. v. Cornwall (St. Austell) Wed./Thurs., 17th-18th Aug. v. Devon (Torquay) Sun./Mon., 21st-22nd Aug. v. Wiltshire (Shifnal)

Minor Counties Knockout Competition :

Qualifying Round : Sunday, 22nd May v. Wales (Welshpool) First Round (Provisional) : Sunday, 5th June v. Cheshire or Staffs. (Perkins)

Nat. West Trophy (1st Round) :

Wed., 22nd June v. Hampshire (St. Georges)

Second XI Fixtures:

Mon., 6th June v. Herefordshire Cricket Association (Away)
Thurs., 16th June v. Birmingham University (Birmingham)
Wed., 20th July v. Wales 2nd XI (Perkins)
Sun., 7th August v. Cheshire 2nd XI (Wem)
Tues., 23rd August v. Worcestershire Club and Ground (Bridgnorth)

Sun., 28th August v. Denbighshire (Away)

SHROPSHIRE LEAGUE REPRESENTATIVE MATCHES:

Sun., 17th July, 2 p.m. Lower Divisions XI v. Wellington Sun., 31st July, 2 p.m. Lower Divisions XI v. Wem

CONTENTS

	Page
Foreword	6
Officials	7
Constitution	8
Rules and Playing Arrangements	11
League Fixtures 1988	15
From the Boundary's Edge	21
1987 Honours	22
Previous Winners	23
1987 League Tables	24
Best Individual Performances 1987 (incl. Highs and Lows) 26
1987 Averages	28
Knockout Competition Rules	34
1988 Knockout Competition Fixtures	36
1987 Knockout Competition Results and Previous Winners	37
Club Secretaries	38
Captains and Weekend Contacts	.40
Umpires Panel	42
1987 League Representative Games	43

ESTABLISHED OVER A CENTURY JOHN WILLIAMS ASTON ROAD, SHIFNAL :: Carpenter & Joiner :: FUNERALS COMPLETELY FURNISHED DAY OR NIGHT SERVICE

Telephone: TELFORD 460669



2

SHREWSBURY AND ATCHAM LEISURE SERVICES

SWIMMING BATHS : The Quarry, Shrewsbury Tel.: 236583 FISHING: Tel.: 231456 Permits available from tackle shops in

Shrewsbury

GOLF: (No membership required) Meole Brace, Shrewsbury. Junction A5/A49 Tel.: 64050

TEMPERTON & TEMPERTON

Auctioneers, Valuers, Surveyors and Estate Agents at

71 MARKET STREET, OAKENGATES, TELFORD Tel.: Telford 612516 22 HIGH STREET, DAWLEY, TELFORD Tel.: Telford 504446 and 25 HIGH STREET, NEWPORT. Tel.: Newport 812519°

> Agents for HALIFAX BUILDING SOCIETY, ABBEY NATIONAL BUILDING SOCIETY and YORKSHIRE BUILDING SOCIETY

Sales of Town and Country Properties

Agricultural Valuations and Surveys

Valuations for Probate and Compulsory Purchase

З

ふふ BRISTO sports & leisure fyr

45 HIGH STREET, BRIDGNORTH, SHROPSHIRE Telephone : BRIDGNORTH (0746) 761701 (Partners : Geoff & Les Bristow)

Leading Suppliers of Cricket Equipment & Clothing

KEENEST PRICES GIVEN ON CRICKET NETTING, COCONUT MATTING

Generous discounts on Cricket Bats, e.g. FEARNLEY MAGNUM = £60 (R.R.P. £77) FEARNLEY MAGNUM CLUB = £30 (R.R.P. £36.80) FEARNLEY HELMET inc. GUARDS = £55 (R.R.P. £69)

Stockists of GRAY NICHOLLS — DUNCAN FEARNLEY STUART SURRIDGE — COUNTY — NEWBERRY MITRE — SLAZENGER IN FACT, ALL NEEDS MET AT DISCOUNT PRICES Enquiries from League Clubs welcome

B. MARTIN & SON (TREFONEN) LTD.

Trefonen, Oswestry, Shropshire Telephone : OSWESTRY 654166 FOR ALL YOUR CATERING REQUIREMENTS (Trade only)

A member of the LANDMARK Cash and Carry Group



News Centre Video Club

178-9 ABBEY FOREGATE : SHREWSBURY

Telephone : 50800

Wide range of VHS & BETAMAX

Best selection of greeting cards in area, always available

FOREWORD

The 1988 season sees the passing of another milestone for the Furrows Shropshire Cricket League with the formation of a further division which, including the Reserve Division, makes seven in all. The new division, to be known as the Sixth, came about because a number of clubs felt the need to expand and give their increasing membership the opportunity of playing cricket on a regular basis. In addition, young players who perhaps have had only the occasional game in the past, should be prevented from drifting away from the sport.

I should like to take this opportunity of thanking all our member clubs for their constant efforts to update. their facilities. This is so important in maintaining the overall standard of our competition, so vital in attracting new players to our clubs. Whilst on the subject of new recruits, on behalf of all connected with the League, I would like to welcome those five clubs who are making their Furrows Shropshire League debuts this year, namely Condover, Hinstock, Knockin, Madeley and Warren. May they have a long and happy association with us.

On the playing front, 1987 again saw the League's representative side keeping up their high reputation by once more winning the Midlands Conference Trophy as well as reaching the quarter-final stage of the national President's Trophy only to lose, in somewhat unfortunate circumstances, to a very good County Alliance side from Bristol. I would like particularly to praise the attitude of all players, and their clubs, who have been responsible for the League's success on both the regional and national fronts.

In closing may I thank our Handbook Editor, Brian Kitson, and those taking advertising space in this publication. Again, we have a very worthwhile Handbook which will no doubt prove of great value and interest to all involved in cricket locally.

I wish everyone, whether on the boundary's edge or in the middle, a happy and enjoyable 1988 season.

6

CLIVE SMITH .

FURROWS SHROPSHIRE CRICKET LEAGUE OFFICIALS

President:	R. E. GROVES, Esq., M.A., Dip.	Ed.
Chairman:	C. SMITH, Esq. 'Ragleth', 12 Upper Road, Meol Shrewsbury. Tel.: Shrewsbury 55383	e Brace,
Vice-Chairman:	M. J. E. TEECE, Esq. Broughshane, Burway Road, Church Stretton. Tel.: Church Stretton 722021	
Secretary:	J. W. REES, Esq. 67 King Street, Shrewsbury. Tel.: Shrewsbury 232255 Ext. 2	29 (Work)
Fixture Secretary:	W. L. BLACKSHAW, Esq. 13 Porthill Drive, Shrewsbury. Tel.: Shrewsbury 62905	
Treasurer:	B. J. KITSON, Esq. 73 Boscobel Drive, Heath Farm Shrewsbury. Tel.: Shrewsbury 67836	r.
Life Members:	W. L. BLACKSHAW, Esq., F. N. FOWLER, Esq. J. W. REES, Esq.	
Executive Committee	Members :	
Division One: (10)		
R. DAVY G. D. ELCOCK J. S. JOHNSON F. W. JONES W. C. KYNASTON R. PERRY D. W. ROBERTS G. A. ROWLEY R. T. TUDOR VACANCY	Tel.: Telford 614241 Tel.: Upton Magna 306 Tel.: Church Stretton 722655 Tel.: Telford 460355 Tel.: Wem 32598 Tel.: Bridgnorth 765193 Tel.: Telford 3084 Tel.: Shrewsbury 57526 Tel.: Shrewsbury 246479	Retiring 1988 Retiring 1990 Retiring 1988 Retiring 1990 Retiring 1988 Retiring 1988 Retiring 1988 Retiring 1990 Retiring 1990 Retiring 1990
Other Divisions: (9)		
G. W. BRACE N. BROADBENT D. F. C. BUNTING G. A. DAVIES	Tel.: Wem 33197 Tel.: Oswestry 662654 Tel.: Bomere Heath 290404 Tel.: Telford 47816 Tel.: Llanymynech 830266 Tel.: Shawbury 250315	Retiring 1989 Retiring 1990 Retiring 1990 Retiring 1990 Retiring 1988 Retiring 1990
e. Jones ' R. Phillips D. W. Ralphs	Tel.: Shawbury 250274 Tel.: Clive 258 Tel.: Wem 32874 B-COMMITTEE MEMBEF	Retiring 1989 Retiring 1990 Retiring 1990

SUB-COMMITTEE MEMBERS: CONSTITUTION: Messrs. Roberts (Chairman), Broadbent, Davies, Foulkes, Hinton, F. Jones, Kynaston, Phillips, Teece, Tudor, Brace & Perry CRICKET BALLS - Messrs. Roberts, Tudor & Bunting DISPUTES - Messrs. Roberts (Chairman), Phillips, Rees and Teece .KNOCKOUT COMPETITIONS - Messrs. Smith (Chairman), Rees & Davy RULES - Messrs. Ralphs (Chairman), Broadbent, Elcock, E. Jones, Johnson & Tudor SELECTION - Messrs. Teece (Chairman), Elcock, Foulkes & Rowley (LOWER DIVS) - Messrs. Bunting (Chairman), Kloson, Davy & Smith DISCIPLINARY - Messrs. Smith (Chairman), Kleson, Davy HANDBOOK EDITOR - B. J. Kilson

CONSTITUTION

NAME: This organisation to be known as THE FURROWS SHROPSHIRE CRICKET LEAGUE

OBJECT: To promote the best interests of cricket in Shropshire and to foster and develop amateur talent in the game. MEMBERSHIP

- (a) The League shall consist of a number of Divisions, the composition of which shall be decided by the Executive Committee, but the size of any division shall not exceed 12
- teams. The team finishing bottom of Division One shall apply in writing (b) for re-election to that Division by 15th October at the latest. The team finishing top of Division Two has an automatic right of application to join Division One. Any other Shropshire League Club applying must have its application in writing to the League Secretary by 15th October at the latest. All applications are to be
- determined by the Executive Committee by secret ballot. The number of Clubs in membership shall only be increased if (c) the Executive Committee on the recommendation and guidance of the Constitution Committee so decide after investigating the merits of each application (status, ground, amenities, facilities, playing strength, etc.).
- Clubs desiring admission to the League must apply in writing to the League Secretary not later than the third Saturday in July of (d)
- the year preceding that in which they wish to take part. Clubs wishing to resign from the League shall give notice in writing to the League Secretary before 31st October in the preceding year. (e)
- The Executive Committee reserves the right to ask any Club to (f) resign if in its opinion the general conduct or appointments of such Club do not satisfy the requirements of the League. In the event of any complaint against a member Club, that Club shall receive 14 days prior notice of the Committee's intention to hear that complaint and will be invited to send representatives to attend that part of the meeting hearing the complaint. This action shall be in addition to any steps taken under "Rules for
- (g) Any Club ceasing to be a member of the League shall at once forfeit any rights of participation in the assets of the League.
- FINANCE 2

1.

- The subscription from each Club shall be £17.50 per team per annum (including a £5 Handbook levy) to be paid not later than (a) 1st May in any year. Clubs not paying their subscriptions by the due date may be charged an extra £1 penalty for every month or part of a month they are in arrears. (b) If the income from subscriptions is insufficient to meet League
- requirements, a further levy may be made on each Club. The funds of the League shall be dealt with by and through an (C) account with a Bank in the name of the League. Cheques may be drawn on two signatures. The Chairman, League Secretary and Hon. Treasurer shall be authorised signatories.
- The financial year shall be automotive asymptotic which the accounts shall be eudited by an Hon. Auditor who shall be elected at the Annual General Meeting. (d)
 - 8

OFFICERS

3

4.

5

- (a) Officers of the League shall consist of the President, Chairman, Vice-Chairman, Hon, Treasurer, Hon, Auditor, Hon, Secretary and Hon. Fixture Secretary, all of whom, with the exception of the President, shall be elected at the Annual General Meeting. The President shall be elected by the Executive Committee.
- Hon. Life Members shall be elected by the Executive Committee (b) in recognition of past services to the League and shall be entitled to attend meetings of the Executive Committee.
- A Hon. Legal Adviser shall be elected by the Executive (c) Committee.

EXECUTIVE COMMITTEE

- (a) The League shall be governed by an Executive Committee consisting of the officers named in 3 (a) above, ten representatives of Clubs in the First Division and nine representatives from all other divisions.
- Not more than two representatives from any one Club shall serve on this committee, with the exception of the officers (b) named in 3 (a) above.
- Nine members shall form a quorum.
- At least seven days notice of meetings shall be given. (d)
- The Executive Committee may appoint such sub-committees as (e) they may from time to time consider necessary.
- A Management Committee shall be formally appointed by the (f) Executive Committee with full power to deal with any matters or issues which may arise and which are not covered by or need adjudication under these rules.
- The Chairman or in his absence the Vice-Chairman, or if both (g) are absent a deputy appointed by the Committee shall preside at all Executive Committee Meetings and shall have a casting vote.
- The decision of the Executive Committee shall be final. The Executive Committee shall have power to co-opt.
- Members shall be elected to the Committee for a period of three years after which time they will retire and, if willing, offer themselves for re-election.
- Executive Committee Members should register an attendance (k) figure of at least 50%. Apologies will only be accepted if tendered three days before a meeting with illness as the only legitimate reason for non-attendance. Members failing to reach the 50% attendance level are liable to expulsion.

ANNUAL GENERAL MEETING

- (a) The Annual General Meeting shall be held in November each
- Twenty-eight clear days notice of the Annual General Meeting (b) shall be given to all member clubs.
- Nominations for officers and members of the Executive Committee and any proposal for alteration to the constitution (c) must be received by the League Secretary not later than seven clear days before the date of the Annual General Meeting.
- Proposals for alterations to the constitution must receive two (d) thirds of votes cast before acceptance and can only be

considered at an Annual General Meeting or a Special General Meeting.

- (e) Not more than one representative of each member club will be entitled to vote at the Annual General Meeting. The Chairman shall have the casting vote.
- (f) If it is thought desirable that only certain member clubs should vote on a particular matter, this restriction shall only be permitted with the specific consent of the Annual General Meeting.
- (g) Proxy votes will not be accepted. (h) Fifteen member clubs shall form a quorum.
- SPECIAL GENERAL MEETING
 - (a) A Special General Meeting may be called at the discretion of the Executive Committee or on receipt by the League Secretary of a written request signed by not less than a third of the Member Clubs, stating the reason for which the meeting should be called.
 - (b) The provisions applicable to the Annual General Meeting, with the exception of 5 (a), shall also apply to a Special General Meeting whenever such Meeting is convened.
- TROPHIES
 - (a) Cups and shields respectively will be awarded at the end of each season to the champions and runners-up in all Divisions. (b) In addition there are awards for the Young Player of the Year
 - the batsman who has scored the most runs and the bowler who has taken the most wickets during the season. All trophies should be returned to the League Secretary not later (c)
 - than 31st August.
 - (d) Clubs winning trophies will be required to sign a document promising to return them in good condition or replace them.
- 8. FIXTURES
 - (a) All League matches will be played on the dates published in the League Handbook unless agreed as in (b) below.
 - Clubs wishing to re-arrange a published fixture must BOTH give written notice to the League Secretary not less than ten days (b) before the date of the proposed alteration. Such changes must receive the sanction of the Executive Committee who will only allow them in exceptional circumstances.
 - Clubs not fulfilling fixtures shall be fined £10 for a first offence, (C) £25 for a second offence and shall face expulsion from the League for a third offence.
 - (d) Clubs will be informed of dates on which a League representative XI may be required. On such notified dates the League will expect their requirements to take preference over any club requirement.
 - In the event of a Shropshire League club qualifying for the final (e) of the National Club Championship Trophy, any club desirous of re-arranging their League fixtures for that day may so do.

10

RULES AND PLAYING ARRANGEMENTS

GENERAL The Rules and Arrangements set out below will apply to all Divisions of the Shropshire League from 1st April, 1988, and will continue until officially amended on the authority of the Executive Committee of the League the League.

1.

2

- QUALIFICATION OF PLAYERS
 (a) No player shall be brought in from an outside League to play in the Shropshire League during the playing season without first obtaining the written consent of the Rules Sub-Committee of the League. An exemption will be made to this rule for clubs with teams competing in another league (i.e. Madeley 3rd XI and Condover 2nd XI).
 (b) A list of playing members for the coming season, from whom teams for the season will be selected, must be submitted to the League Secretary no later than the date of commencement of that season.
- (c)
- League Secretary no later than the date of commencement of that season. Any new players must also be registered with the League Secretary. Any bona fide member of a club may take part in League matches provided that: (i) after transferring from another club in this League he has applied for and obtained the sanction of the Rules Sub-Committee to represent his new Club. Such applications must be received four clear days before his first match with his new club and must be accompanied by a letter from the Secretary of his old club confirming that he has fulfilled his obligations to that Club. (ii) if the has played in 12 or more first team matches, he shall not be allowed to play in any of the last three matches, approval of the Rules Sub-Committee. (iii) if he has played in 12 or more first or second team matches, he shall not be allowed to play in any of the last three matches in a lower division without the approval of the Rules Sub-Committee.

3.

- Rules Sub-Committee. RULES FOR THE CONDUCT OF ALL MATCHES (a) The twelve clubs in the First Division shall each run a team in the Reserve Division thereof. There shall also be other Divisions. All teams shall play each other on a home and away basis, fixtures being arranged by the League Fixtures Scretary between mid-April and mid-September. All fixtures shall take place on a Saturday unless clubs are desirous of re-arranging a fixture after they have been published. In this case BOTH clubs must give written notice to the League Secretary not less than ten days before the date of the proposed alteration and must be granted permission before carrying out any change. Any infringement of this rule will result in the match being declared void. nid
- Matches shall be played in accordance with the LAWS of CRICKET subject to such specific points as are hereinafter (b) stipulated. No underarm bowling will be allowed in the League.
- (c)
- (c) No underarm bowling will be allowed in the League. HOURS AND CONDITIONS OF PLAY (a) All matches shall commence at 2.00 p.m. except in September when all matches shall commence at 1.30 p.m. (b) Prompt starts are essential and the toss for innings shall take place at least fifteen minutes before the scheduled starting time. In the event of a team not being able to comply, the opposing team may, if it so wishes, exercise the right to claim the toss. Clubs who arrive late without a satisfactory explanation will be dealt with by the Executive Committee who may deduct two points from the record of the offending club.

- The duration of play shall be limited to 100 six-ball overs in April, May, June, July and August with an interval of 20 minutes for tea between innings. In September the duration of play will be 90 six-ball overs with an interval of 20 minutes for tea between innings, but:(i) The side batting first shall receive not more than 50 overs in April, May, June, July and August and not more than 45 overs in September.
 (ii) The other side shall, in addition to its 45 or 50 overs, utilise the balance, if any, of that same quota not used by the side batting first. In this case, any odd balls bowled shall constitute a complete over.
 (iii) In conjunction with the socrers, the Umpire shall ensure that the recording of overs and runs is correctly made and adequately displayed.
 Before the first ball of the last over of each innings, the Umpires shall call 'last over' clearly so that both sides understand.
 (iv) Captains may agree to reduce the overs before the toss (c)

 - understand.
 (iv) Captains may agree to reduce the overs before the toss takes place if in their opinion the weather conditions so indicate. In these circumstances the provisions of Rule 5 will have no bearing unless 30 minutes have been lost. The minimum number of overs to constitute a match to be forty.
 (v) No match shall start after 5.00 p.m.

5.

6.

- (v) No match shall start after 5.00 p.m.
 INTERRUPTION OF PLAY

 (a) In the event of interference by weather, light or unforeseen circumstances amounting to 30 minutes or more after the scheduled starting time (2.00 p.m. April to August and 1.30 p.m. September), play shall cease at 8.30 p.m. during the months of April to August inclusive with a minimum of 20 overs being bowled from 7.30 p.m. or on completion of the number of overs that constitute that particular match. In September, play shall cease at 7.30 p.m. with a minimum of 20 overs being bowled from 6.30 p.m. or on completion of the number of overs that constitute that particular match.
 If a further interruption of play occurs during the final 20 overs, the number of overs will be reduced by one over for every full three minutes lost. If the reduced number of overs are completed before 8.30 p.m. (7.30 p.m. in September), play will continue until 8.30 p.m. (7.30 p.m. in September), play will continue until 8.30 p.m. (7.30 p.m. in September).
 (b) If, at the scheduled finishing times in (a) above, the side batting second still occupy the crease, and have received at least as many overs as the side batting first, then the game shall be a draw and the points allocated in accordance with Rule 6.
 (c) If a batting second do not receive as many overs as the side batting side other.

 (d) If a bowler is incapacitated during an over, that over shall be completed by any member of the fielding side other than he who bowled the previous over.

ALLOCATION OF POINTS WIN : 6 points to the winning side. TIE : 3 points to each side only when scores are equal and the team batting second are all out or have used their allocation of overs (Subject to Rule 5 (b) and 5 (c)). NOT STARTED : 1 point to each side. ABANDONED : 1 point to each side. DRAW : 4 points to the side scoring the greater number of runs and 1 point to the other side when the agreed number of overs have been bowled without a definite result having been achieved. (Subject to Rule 5 (b) and 5 (c)).

OVER RATE : Overs are required to be bowled at 18 per Hour and each club's rate will be reviewed halfway through the season and again at the end of the season. At each review any club which has not attained an average over rate of 18 per Hour will have 6 points deducted from their accumulation of points to date. The rate for the first innings will be taken from 2.00 p.m. and the second innings from 20 minutes after the completion of the first innings.

innings. N.B. This Rule applies in Division One and Reserve Division only.

THE BALL 7.

Two new balls purchased through the League shall be used in all First Two new balls purchased infolging the League shall be described in this Division games. One new ball purchased through the League shall be used in all Division Two and Three games. In Reserve and Other Divisions, a new ball need not be provided for every match but the ball to be used shall be in good condition and of good quality. This shall be submitted to and approved by the Captains before the toss.

- 8.
- QUALIFICATION OF UMPIRES
 (a) An umpire may be required to satisfy the Rules Sub-Committee as to his competence either on appointment or at any time thereafter.
 (b) If one side provides an umpire and the other side does not provide one, that one umpire should be the official umpire for the match and should stand at the Bowler's end throughout the match natch.

 - match.
 (c) Umpires should be responsible for noting and recording the over rate viz. overs bowled and time taken and will be required to note this information on the official League Score Sheet.
 (d) The Shropshire Association of Cricket Umpires will be responsible for appointing umpires to all Division One and League Knockout fixtures.
 (e) No fee as such is payable to umpires appointed from the panel. Expenses will be met by the Shropshire Association of Cricket Umpires with all Division One Clubs being expected to submit, on request, a one-off payment to the Shropshire A.C.U. to cover such costs. such costs.

9.

- PREPARATION OF PITCHES (a) Preparation of pitches must be in accordance with the M.C.C. Laws and Instruction. Pitches should not be watered in the 48
- bour period preceding any match.
 (b) Pitches may be wholly covered at all times where possible. Before the toss is made, the home Captain should advise his opposite number whether covers are available.

PLAYERS CROSSING The attention of Captains is drawn to Note 2 (b) of Law 31, whereby it is one of their duties to ensure the incoming batsman passes the outgoing one before the latter leaves the field of play.

11.

CANCELLATION OF MATCHES In the event of any ground being unfit for play owing to weather or other circumstances, it shall be the responsibility of the home club to inform the visiting club of this fact. This should be carried out on the day of match not before 11.00 a.m. and not later than 12.00 noon.

12.	NOTIFICATION OF RESULTS It shall be the responsibility of the home club to send full details of the match played on the Score Sheet issued by the League which is signed by both Captains. This Score Sheet must reach the League Secretary by the first post each Thursday after the match has been played. Failure to comply with this rule will result in two points being	5 9				ā		۲۲ ۱۵ ۲۵	, SEP.	2 (12) 11	:	ຼຸຫ	(7) 8 (6)	Ē	9	6 (5) 4		10	(I) (I) I (I) I (I)	(9)
	deducted from the offending club.	720	43					22		(3)	12)	- =	10	6	80	E	(<u>)</u>	(2)	ŧ,	N
13.	PROTEST (a) Any protest shall be lodged with the League Secretary in writing	r –	5					50			\sim	E E							0 0	(R)
	 within four days following the match. (b) A copy of such protestshall be sent to the club against whom the protest is made. 	,	4					13				2 (2)	\sim	\sim						
	(c) Each protest is to be accompanied by a fee of £5 which shall be forfeited if the Disputes Sub-Committee deems the protest to be	-					Se	9	.eua			9 (f							- 0	ת
	 trivial. (d) The club sustaining the protest or objection shall have the points added to its total points griand but such as its sector. 	l.	i				of the	30		E	ωı	0 <u>6</u>	(3)	(2)	-	F (2 6	(6)	(0)	(4)
	points added to its total points gained, but such points not to exceed the maximum for a win. The club against whom the protest has been made to lose any points gained and to be fined		1	e.	õ		are the reverse of these	53		œ	E'S	(c)	4	3	2	Ξį	(E)	(12) o	ה מ ז	2
	(e) Clubs when making a protest shall state under which rule the		. 1		(A)		e reve	91	10	(6)	co 1	- 9	12	(4)	(3)	R ,	- ;	1	6	(c)
14.	protest is made. DISPUTES					ited	ire th	6		10	(6)	0 E	(9)	ю	4	ი ი	N I	Ξę	12	=
14.	Any dispute having reference to the Laws of Cricket, shall be referred to the Cricket Council for settlement and their decision shall				FIXTURES	Bracketed		2	JULY	11)	ç 0	ົ້	7	12)	(2)	(4)	(3)	۲ ۲ (۲	- 0	o
2	be final, but in all other matters the decision of the League shall be final.					Bra	FIXTURES	55	×.	~		(n)		~						
15.	LEAGUE POSITIONAL PLACINGS In the event of two or more teams finishing on the same number of			*:	A45,471.1	Games	LXI	81			0.000	- P								
	points at the end of a season, the following factors shall be used to determine final placings : firstly - most wins; if still equal - least	÷			NONE	Ga		11		ო	22	ĒĒ	10)	(6)	(8)	~ '	10 U	n ∠	t é	(2)
	wins. In the event of these four instances not separating the teams					Home	reserve division	4	, JUNE			-	-						2 0	
	the points tally of League matches played that season between the teams involved shall determine the final League placings.				0	Ι	210	58				5				~			0 0	n
6.	These rules are binding on all players and clubs in the Furrows Shropshire Cricket League and the Executive Committee may take		42		DIVISION		IVE	12	3			t (0)		-					E	(a)
	action against defaulting clubs or players.	0	ł				Ш (A	41				(c) (12)				- F				
			1				- E	L	YAM			0 0				ST 10				
	•••		Ĩ.					30				(9)								-
			+					53	ляяА			~ ~	\sim				100	~		
			2							~										
			8	i Ta						1. WEM	2. LUDLOW	WELLINGTON	SHREWSBURY	WHITCHURCH	ST. GEORGE'S	NEWPORT	OSWESTRY	WROXETER	RHIDGNOHIH	PERKINS
	í.	2								1. V	2. L	ю. 4 О. 7						10. V		12
,	14 .					а 1					15									
	a .	°.		8.94		-			2		•		•							
			ł						a 9		a ,		9							

21 (11) 10 8 8 7 7 7 7 7 7 (12) (5) (5) (5) (3) (2) 1 1 21 (12) (11) (10) 9 (8) (6) (6) (4) (4) (4) 1 2 2 1 10 12 (11) (9) (8) 7 7 (6) 5 4 en en € 10 1 (2) 3 'das - (5) 111 10 9 9 9 9 8 8 8 8 (6) (6) (7) (7) (7) (7) 112 3 SEP. 3 12 (1) (1) (11) (10) (9) (8) (8) (3) 5 5 4 (2) 27 3 (11) (11) (11) (9) (8) 7 6 6 7 7 7 7 (2) 22 (2) (5) (12) 0 1 1 0 E (9) (2) 80 50 (4) s - 1 5 თ (12) (7) (6) (5) 8 50 (12) (2) (1) (11) (10) ل 0 (6) 80 **6** 0 5 13 5 (4) (12) 2 (1) (1) (1) (1) (10) (9) ω ი თ 13 ധവ 9 . DUA. 4 (3) (2) (1) 11 10 12 (8) (7) (9) AUG. (5) (12) 3 2 (1) (1) (10) 7 (8) 00 4 σ 30 DIVISION THREE FIXTURES 1988 7 (6) (5) (5) 3 3 2 (1) (11) (10) 6 c0 4 30 6 5 (4) (4) (3) (3) (3) 1 1 1 1 1 1 1 2 (9) (10) (8) 53 6 5 (4) (3) (3) 1 (8) 11 12 (9) (10) 53 91 0 u 91 8 6 (5) (5) (1) 12 (2) (11) (11) (01) 9 6 12 (11) 8 6 (5) (4) (3) (2) (10) σ -Home Games Bracketed 6 11 (10) 100 2 F (01) (9) (8) (7) 12 цO 4 3 (5) (5) (6) 105 2 112 111 (9) 8 8 8 8 8 8 8 8 8 8 8 8 (7) (7) (5) (5) (3) (2) (2) (2) (2) (3) 52 (12) Ę 10 9 8 8 (7) (7) (7) (5) (5) (4) (4) (2) (2) 55 0 E (11) (10) (9) (8) (8) (12) 6 6 6 6 7 3 3 3 3 81 N (10) (9) (8) (12) 0 u 4 α ~ (E) (11) 81 (3) ---11 9 8 8 8 8 8 (5) (5) (5) (5) (4) 2 2 11 F Q 0 (3) -8 (7) (6) (5) (4) 11 (1)-4 m (LL) (9) 12 7 9 5 (8) INNE 7 (9) 7 6 6 (8) Þ JUNE (5) (4) 12 2 12 . 11 10 (8) (7) (6) (3) (3) 82 (9) (9) 12 (2) 11 10 8) (8) 4 (5) 82 (6) (5) (3) (3) (3) (11) (11) (12) co ~ co 51 (6) (5) (5) (4) (4) (4) 1 2 2 (11) (10) (12) 00 5 51 * * NOTE : G.K.N. now withdrawn from League E o S 12 (3) (2) 14 5 (3) (3) 11 11 (9) (9) 6 0 (8) 14 8 6 (6) 9 0 YAM L 4 α α E E (12) ω (2) ο O F E YAM 30 (10) (5) 6) φ 2 (4) (3) (2) -F 30 ω 1 (1 C 10 (9) (8) 9 S 4 3 3 23 APRIL £ 12) (6) (8) E (9) 3 2 10 ſ APRIL 53 11. MUCH WENLOCK 4. BOMERE HEATH 9. CRAVEN ARMS 5. ST. GEORGE'S 3rd XI 3. COTON HALL 6. ALBRIGHTON **1. FENNS BANK** 5. FRANKTON 10. PONTESBURY 8. CALVERHALL 10. OVERTON 4. ALBERBURY 9. BROMFIELD 2. CATHEDRAL 1. ELLESMERE 3. TIBBERTON 11. SHAWBURY 7. FORTON 6. HARCOURT 12. CAE GLAS 8. G.K.N. 2. M.E.B. 12. B.S.F. 7. PREES * * 16

Home Games Bracketed

DIVISION TWO FIXTURES 1988

21 21 10 12 (11) (10) 9 (8) (6) (6) (6) (1) (1) (1) 3 SEP. (2) 12 (5) (5) (5) (5) (5) -F 0 0 0 0 27 (12) (1) (11) (10) 3 (8) 0 (4) (3) (3) 11 11 12 9 9 (5) (5) 50 (5) 13 ი თ 9 'DNY 9 ٩ (12) 3 2 (1) (11) (10) 30 DIVISION FIVE FIXTURES 1988 (2) ω 4 2 (9) თ (8) 6 6 7 1 1 1 1 2 (9) (10) 53 91 10 S (10) (9) (9) (5) (5) (4) (4) (4) (2) (2) (2) (11) (11) Home Games Bracketed 6 Home Games Bracketed 2 F IUL 52 (12) 11 10 (9) 8 8 (7) (7) (7) (5) 4 4 (3) 1 (2) 81 ∝ £ £ (10) (9) (8) (8) (12) (12) 6 (12) 6 4 5 1 μ (3) 12 -11 10 8 8 8 8 8 8 (7) (7) (7) (5) (5) (2) (2) Þ JUNE (2) (1) (11) (11) (12) (9) (12) 4 M ø ŵ 00 28 4 (5) 12 (2) 1 11 9 (8) (7) (9) (11) (10) (12) 51 (6) (5) 4 (õ) 4 ⊢ ω 5 ** NOTE : G.K.N. now withdrawn from League 14 6 9 S ٢ YAM œ 6) (2) თ. ģ 4 30 (6) 8 -(10) (5) 42 (4) (3) (2) Ξ ~ 9 (12) 53 ЛІЯЧА 0 1 0 (8) (9) 3 Ē E S 3 4 3. BRIDGNORTH 3rd XI 4. DAWLEY PHOENIX 10. WELLINGTON 3rd XI 12. BOMERE HTH. 2nd XI 9. ALBRIGHTON 2nd XI 11. ACTON REYNALD 8. NEWPORT 3rd XI 2. LUDLOW 3rd XI 7. HANWOOD 6. EDGMOND 5. HODNET 1. QUATT

18

DIVISION FOUR FIXTURES 1968

2	2. 2012									14			
			19	l.					4 *				
		1. ELLESMERE 2nd XI	2. GLYNWED	3. CHURCH ASTON	4. ALBERBURY 2nd XI	5. FRANKTON 2nd XI	6. N.A.L.G.O.	7. FORTON 2nd XI	* 8. G.K.N. 2nd XI	9. OSWESTRY 3rd XI	10. OVERTON 2nd XI	11. M. WENLOCK 2nd XI	12. CAE GLAS 2nd XI
53	APRIL	(10)	თ	æ	٢	Q	(2)	(4)	(2)	(2)	-	12	(11)
90	30	Ø	(8)	(2)	(9)	(12)	4	ო	CI	Ê	-	10	ŝ
L	YAM	(8)	7	Q	S	(4)	(3)	(2)		H		(6)	(10)
41		7	(9)	(2)	(12)	1.1	N	(E)	(11)	(10)	თ	80	4
12		. 0	ъ	4	(3)	(2)	£	Ę	10	12	(8)	(2)	(6)
82		ю	(4)	(12)	2	Ê	(11)	(10)	(6)	Ø	٢	ဖ	ო
4	JNUL	(4)	(3)	N	٣	F	10	ດ	(12)	(2)	(9)	(2)	Ø
11		ო	12	(E)	(11)	(10)	(6)	(8)	4	9	ŝ	4	(2)
81		(2)	÷	F	10	6	80	12	(9)	(2)	(4)	(3)	6
52		12	(11)	(10)	(6)	(8)	2	(9)	ß	4	ო	2	E
2	ነባር	(11)	10	ი	œ	7	(12)	(2)	(4)	(3)	(2)	-	9
6		10	(6)	(8)	Ê	(9)	ъ	4	თ	2	(1)	(12)	Ę
91		(6)	ω	2	9	12	(4)	(3)	(2)	F	5	(10)	(2)
53		¢	(2)	(9)	(2)	4	ო	CN .	E	(11)	(12)	თ	10
30		(7)	9	S	12	(3)	(2)	-	F	10	(6)	(8)	(4)
9	.eua	(9)	(2)	(4)	co	N	-	(11)	(01)	(12)	ø	2	ი
13		(5)	4	12		-		10	Ø	(8)	6	(9)	(3)
50		4	0	(2)	Ē	(11)	(01)	(6)	12	7	ø	w	(8)
22	•	(3)	(12).	۳	F	10	თ	œ	E	(9)	(2)	(4)	CI
3	'das	\$	Ē	(11)	(01)	(6)	(8)	(12)	9	ı۵	4	ო	2
01		(12)	F	10	ი	00	6	9	(5)	(4)	(3)	(2)	÷
21		÷	(1C	9	3	C	-				100.000	<u> </u>	Ξ

0000 DIVISION SIX FIXTURES

Home Games Bracketed

11 1 12 01 2 (11) (11) (11) (11) (112) (1 ε 'das (3) N 22 50 (5) 4 4 112 112 111 110 9 9 (8) (7) (7) (7) (6) 13 8 ~ 6 9 'DUA (7)
 (5)
 (5)
 (5)
 (5)
 (2)
 (2)
 (2)
 (2)
 (2)
 (3)
 (4) 30 53 6 ω (7) (4) (5) (2) (2) (2) F (10) 91 6 ø JULY 2 4 3 ŝ 52 (2) 81 (1) (11) (10) (10) (10) (110) (110) (110) (111) (11) (111) (in a 11 2 11 10 9 (12) (4) (2) 8 (5) INNE \$ 5 (4) 2 2 2 (12) (11) (11) (11) (10) (9) (9) 8 8 8 8 8 8 3 3 3 3 28 (4)
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 3
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4
 4 54 7 (6) 5 5 (12) (3) (3) (3) (3) (1) (11) (10) 4 σ co 14 (6) (5) (5) (5) (8) E 12 6) (10) YAM L (6) (12) 4 (3) 2 (1) (11) σ 8 10 40 30 (5) (11) (10) (4) (2) (3) 12 53 APRIL 1. FENNS BANK 2nd XI 4th XI 7. WHITCHURCH 3rd XI 8. SHREWSBURY 3rd XI 9. BROMFIELD 2nd XI 10. PONTESBURY 2nd XI 4. MADELEY 3rd XI 11. PERKINS 3rd XI CONDOVER OSWESTRY HINSTOCK 6. KNOCKIN 12. WARREN N ė ió

20

FROM THE BOUNDARY'S EDGE

It must have been the Spring air ... Of the eleven centuries scored in Division 1, no less than 5 were recorded on the same day, 9th May.

Opening up ... Openers Guy Thompson and Tim Hurdley both scored centuries in Bridgnorth 2nd XI's 263-1 against Oswestry on 25th July.

Just warming up? ... Mick Jarvis took 9-5 for Albrighton 2nd XI against Much Wenlock 2nd XI on the opening day of the season (this was the best bowling return of the season).

Can't see the wood for the trees ... Openers Trevor Wood (Ellesmere) and Phil Wood (Frankton) scored 105 and 97 respectively when their clubs met in a Division 2 game on 8th August. It was also Trevor's maiden league century.

So unlucky ... David Fowles (Fenns Bank) scored 135 out of his side's total of 222-8 against Bromfield on 29th August, but still ended up on the losing side, Bromfield cruising home by five wickets.

And again Chris Richards (Much Wenlock 2nd XI) took 9-33 as Church Aston were dismissed for 102 on 30th May, and then finished on 9 not out as his side failed by 30 runs.

Double talk ... In the Division 1 game between Wem and Wellington on 25th April, Wem's John Aspinall and Nick Singleton, the only bowlers used, returned identical figures of 5-51 which set up their side for a 4 wicket victory.

Action replay ... Bridgnorth's Andy Breakwell scored unbeaten centuries on successive Saturdays, 9th and 16th May.

Slow coach .

Wally ("W.G.") Welch batting at no. 4 for Bomere Heath 2nd XI against Quatt on 13th June occupied the crease for 1 hour 32 minutes whilst accumulating 3 runs. The comments of one Barry Jones are not recorded!

Coincidence ...

Both Oswestry 1st and 2nd XI's were involved in tied matches, the firsts v. Newport on 30th May and the seconds against Wroxeter on 20th June.

A real "clever" performance ...

John Witty (Newport 3rd XI) had a real starring role in the match v. Quatt on 11th July. He recorded a hat trick to wrap up the Quatt innings at 203 finishing with 5-33, and then followed up with an unbeaten 115 as his side won by 6 wickets.

A cut above the rest ... In the Division 1 game at Oswestry a Shifnal player was seen having his locks shortened in front of the pavilion. It certainly proved a "snip", inspiring Shifnal to their first win of the season.

Spoilsport ...

Fellow bowler Jonathon Martin's throw ran out the tenth B.S.F. batsman thus preventing Frankton's Brian Edwards collecting all ten wickets. He had to console himself with a mere 9-35!

1	987	HONOURS
в.	20/	nonoona

	196	ngnggna					
DIVISION ONE		ns (Chronicle Cup) up (Link 51 Shield)		1			
RESERVE		ns (Sentinel Cup) up (Link 51 Shield)					
DIVISION TWO		ns (Silhouette Cup) up (Link 51 Shield)					
DIVISION THREE		ns (Murphy Cup) up (Link 51 Shield)	Albrighton M.E.B.				
DIVISION FOUR		ns (League Trophy up (League Shield)) St. Georges 3rd XI Alberbury				
DIVISION FIVE		ns (League Trophy up (League Shield)) Bridgnorth 3rd XI Albrighton 2nd XI				
	Winners		Wellington				
LEAGUE KNOCKOUT	(Shropshi Runners (Man of th	The Albert Street and	Whitchurch M. Rowley (Wellington)	α.			
VILLAGE KNOCKOUT	Winners (Furrows Runners u Man of th		Fenns Bank Forton P. Mapp (Fenns Bank)	25			
YOUNG PLAYER OF THE YEAR	(League A	Award)	A. Breakwell (Bridgnorth)				
MOST RUNS DURING SEASON	(Shropshi	re Star Trophy)	J. Foster (Shrewsbury)				
MOST WICKETS DURING SEASON	(Impact S	hield)	R. Wilson (N.A.L.G.O.)				
SHROPSHIRE S BAT OF TH MONTH		May June July August	Not Awarded J. Winch (Glynwed) T. Prew (Ghurch Aston) B. Edwards (Frankton) A. Johnson (Shifnal) J. Aspinall (Wem)				
YOUNG PLAYI OF THE YEA (P. Wilkinso Awards)	R	Res. Div. Div. Two Div. Three Div. Four	A. Breakwell (Bridgnorth) R. Kelly (Newport) J. Martin (Frankton) A. D. Rowe (M.E.B.) R. Thomas (Nodnet) A. Bound (Alberbury 2nd XI)				

22

Winners Runners up **RESERVE DIVISION** Newport Newport Wellington Rolls Royce Wem Newport Wroxeter

Rolis Royce Newpon Newport/Wem (TIE) Oswestry/Shifnal (TIE) Wroxeter St. Georges Wroxeter Newport Wroxeter Bridgnorth Shifty Bridgnorth Shrewsbury St. Georges Shrewsbury Wroxeter Shrewsbury Newport Shrewsbury Wroxeter Shrewsbury Whitchurch Shrewsbury Newport Wem Whitchurch Shrewsbury Shrewsbury Shrewsbury Shifnal Shifnal Wroxeter Shrewsbury Shrewsbury Wem **DIVISION TWO** 1970 Coton Hall 1971 Fenns Bank 1972 Shawbury 1973 Coton Hall 1974 Coton Hall 1975 Coton Hall 1975 Fenns Bank 1977 Fenns Bank M.E.B. Coton Hall Coton Hall Shawbury Prees Bromfield Bromfield Coton Hall Fenns Bank Ellesmere Albrighton Cae Glas M.E.B. Coton Hall Bomere Heath/M.E.B. (TIE) Craven Arms Shawbury Quatt Craven Arms Shawbury Forton Forton Fenns Bank Fenns Bank Albrighton M.E.B. Coton Hall

Frankton Bomere H. G.K.N.

Runners up

Winners

DIVISION ONE

1970 1971

1977 1978 1979

1980

1981 1982 1983

Forton Overton Frankton

4

e.

PREVIOUS WINNERS

Newport Bridgnorth Wellington Newport Shrewsbury Shrewsbury Shrewsbury Wroxeter Whitchurch Wellington Whitchurch Bridgnorth St Georges Newport Shrewsbury Bridgnorth Shrewsbury Whitchurch Bridgnorth Newport Shrewsbury St. Georges Wem Wroxeter St. Georges Shrewsbury Newport Whitchurch Bridgnorth Newport

DIVISION THREE

Overton	Cae Glas
B.S.F.	Prees
Frankton	Albrighton
Caiverhall	Much Wenlock
Bomere Heath	Overton
Craven Arms	Shawbury
Quatt	Forton
Edgmond	Frankton
Bomere Heath	G.K.N.
Ellesmere	Fenns Bank
Much Wenlock	B.S.F.
Albrighton	M.E.B.

DIVISION FIVE DIVISION FOUR 1981 Forton 1982 G.K.N. 1983 Hodnet Quatt Edgmond Acton Reynald Cathedral Harcourt Cathedra Calverhall Dawley P Wellington 'A' Tibbertor St. Georges 3rd XI Alberbury Frankton 'A' 1984 Tibberton 1985 1986 1987 Dawley Phoenix Tibberton Newport 'A' Tibberton Hanwood Bomere Heath 'A' Bridgnorth 3rd XI Albrighton 2nd XI

FINAL LEAGUE

NE		

	D	IVISIOI	n one					
	Р	w	D	А	L	Points		
Shrewsbury	22	12	4	4	2	92		
Wem	22	8	5	5	4	67		
Whitchurch	22	9	3	5	5	65		
Newport	22	6	7	3	6	60		
Perkins	22	7	4	5	6	54		
Ludlow	22	5	7	5	5	54		Ŋ.
Wellington	22	5	4	9	4	52		
Shifnal	22	5	5	5	7	46		ų
Wroxeter	22	4	5	5	8	46		
Oswestry	22	4	5	7	6	38		1
Bridgnorth	22	3	6	4	. 9	34		s)
St. George's	22	2	7	5	8	30		
	D	IVISIO	M TWO			~		
	Р	w	D	А	L	Points		
Frankton	22	10	4.	4	4	77		
G.K.N.	22	11	2	3	6	74		
Fenns Bank	22	9	5	2	6	70		
Coton Hall	22	5	4	6	5	61		
	22	7	4	5	7	59		
Craven Arms	22	4	10	4	4	59		
Overton				4	10	59		
Bomere Heath	22	8	2					
Much Wenlock	22	5	7	6	4	52		
Forton	22	6	3	5	8	- 47		
B.S.F.	22	5		0	4	43	1	
Ellesmere	22	3	5	5	9	37		
Bromfield	22	2	8	2	10	28		
	, DIL	VISION	FOUR					1
	Р	w	D	А	L	Points		B
St. George's 3rd XI	22	11	4	4	3	83		
Alberbury	22 .	10	4	4	4	74		1
Hanwood	22	7	8	5	2	73		.)
Dawley Phoenix	22	11	-	3	. 8	69		8
Hodnet	22	6	7	5	4	63		
Acton Reynald	22	7	3	3	9	57		
Quatt	22	5	7	4	6	47		
Ludlow 3rd XI	22	6	1	5	10	44		
Newport 3rd XI	22	5	3	4	10	44		
Bomere Hth. 2nd XI	22	6	2	4	10	43		
G.K.N. 2nd XI	22	4	. 8	3	7	38		
	22	4	3	4	10	38		
Glynwed	22	D	3	4	10	31		

24

TABLES 1	987					3	
	RESE	rve d	ivisio	N			
	Р	W	D	А	L	Points	
Shrewsbury	22	12	4	4	2	83	
Newport	22	9	3	6	4	72	
Perkins	22	9	5	3	5	71	
Wem	22	7	4	5	6	63	
Bridgnorth	22	7	6	4	5	58	
Wroxeter	22	5	6	4	7	57	
Whitchurch	22	6	4	6	6	52	
Ludlow	22	6	3	5	-8	47	
St. George's	22	6	3	6	7	45	
Shifnal	22	5	3	6	8	39	\overline{a}
Oswestry	22	3	6	5	8	34	
Wellington	22	2	5	4	11	30	
			MREE			B	
	Р	W	D	A	L	Points	
Albrighton	22	12	5	2	3	94	
M.E.B.	22	11	3	5	3	77	
Tibberton	22	9	1	5	7	63	
Pontesbury	22	8	1	8	5	60	
Cathedral	22	6	4	6	6	55	
Cae Glas	22	7	4	5	6	54	
Prees	22	5	7	5	5	54	
Calverhall	22	6	2	. 5	9	43	
Shawbury	22	5	3	5	9	, 41	
Harcourt	22	3	6	5	8	38	
Edgmond	22	3	3	6	10	36	
Wellington 3rd XI	22	3	7	5	7	30	
	DIV	ISIÓN	FIVE				
	Р	W	D	А	L	Points	
Bridgnorth 3rd XI	22	14	4	3	1	99	
Albrighton 2nd XI	22	15	1	1	5	95	
Church Aston	22	12	i.	4	5	80	
N.A.L.G.O.	22	11	2	4	5	75	
Cae Glas 2nd XI	22	9	3	4	6	64	
Forton 2nd XI	22	8	4	3	7	61	
	22	8 7	4	6	7	55	
Overton 2nd XI			4	4	7		
Alberbury 2nd XI	22	7				50	
Frankton 2nd XI	22	5	4	5	8	45	
Oswestry 3rd XI	22	5	1	4	12	37	
Much Wenlock 2nd X		2	121	4	16	16	
Ellesmere 2nd XI	22	2	(*)	3	17	15	
		25					

E

<i>ೆ</i>								
	ND LOWS) OF 1987		BC	WLERS TA In One (10)	king 7 wickets or i	Nore,	1987	
Highest Total by Te			9-48	J. Aspinall				
Division One 279-8	Shifnal v. Bridgnorth	8 August	8-38	A. Barnard	Wem v. Bridgnorth		12 Sept.	
Reserve Division 268-7	Bridgnorth v. St. Georges	30 May	8-49	D. Parry	Shrewsbury v. Shifnal		12 Sept.	
Division Two 271-5	Coton Hall v. Much Wenlock	8 August	8-57	D. Breakwell	Bridgnorth v. Oswestry		11 July 25 July	
Division Three 244-3	Prees v. Cae Glas	16 May	7-19 7-50	D. Vart	Shrewsbury v. Wroxeter Shrewsbury v. Shifnal Bridgnorth v. Oswestry Oswestry v. Wroxeter		20 June	
Division Four 231-9	Manwood v. St. Georges 3rd XI	8 August	7-50	J. Smith	Wellington v. St. Georges Bridgnorth v. Shrewsbury Bridgnorth v. Wroxeter		13 June	
Division Five 228-5	Bridgnorth 3rd XI v. Ellesmere 2nd XI	5 Sept.	7-64	J. Golightly D. Breakwell	Bridghorth V. Shrewsbury		5 Sept.	
Lowest Total by Team :			7-64	M. Gronin	Newport v. Ludlow		16 May 4 July	
Division One 51	Wroxeter v. Oswestry	20 June	7-88	D. Breakwell	Bridgnorth v. Shifnai		8 August	
Reserve Division 42		22 August	Heserv 8-58	e Division (7)			e naguat	
Division Two 46	B.S.F. v. Bomere Heath	27 June	7-17	A. Mulliner S. Burgoyne	Shrewsbury v. Wroxeter Ludlow v. Shifnal		27 June	
Division Three 36	Edgmond v. M.E.B.	25 July	7-20	A. Brown W. Bromley K. Pugh	Wem v. Shifnal		16 May	
Division Four 22	Dawley Phoenix v. Glynwed	30 May	7-24	W. Bromley	Shrewsbury v. Ludlow		30 May 22 August	
Division Five 21	Ellesmere 2nd XIv. Cae Glas 2nd XI		7-27 7-44	K. Pugh	Shrewsbury v. Whitchurch		8 August	
			7-44	G. Thomas K. Price	Bridgnorth v. Whitchurch		22 August	
BATSMEN SCO	RING CENTURIES 1987	7		n Two (8)	Perkins v. Wroxeter	1	29 August	~
			0.35	D Educardo	Frankton v. B.S.F.	Si	20 June	
Division One (11)			8-23	A. Perry N. Gittens S. Tomkinson	Bomere Heath v. B.S.F.		20 June 27 June	
146 * J. Foster 144 A. Johnson	Shrewsbury v. St. Georges Shifnal v. Bridgnorth	9 May	8-53 8-53	N. Gittens	G.K.N. v. Coton Hall		1 August	
146 Johnson 125* R. Burton 122* A. Breakwell 109* A. Breakwell 108* J. Foster	Wroxeter v Ludlow	8 August 9 May	7-29	J. Martin	Forton v. B.S.F. Frankton v. Forton		13 June	2
122 * A. Breakwell	Bridgnorth v. Oswestry	9 May	7-30	N. Beardmore	Coton Hall v. Bomere Heath		27 June	8
109 * A. Breakwell 108 * J. Foster	Bridgnorth v. Wroxeter	16 May 4 July	7-45	B. Edwards A. Perry	Frankton v. Forton		20 June 12 Sept.	
108 S. Johnson	Bridgnorth v. Bridghoffn Bridgnorth v. Oswestry Bridgnorth v. Wroxeter Shrewsbury v. Wem Ludlow v. Wroxeter	25 July	7-62	A. Perry	Bomere Heath v. Coton Hall		20 June	
105 * C. Stephan	St. Georges v. Oswestry Whitchurch v. Shifnal	4 July 9 May	9-29	Three (16)				
103 * D. Ashley	Whitchurch v. Shifnal	9 May	8-18	A. D. Rowe R. Sylvester D. Williams	M.E.B. v. Edgmond Albrighton v. Calverhall		9 May	
103 G. Walker 101* T. Parton	Wem v. Ludlow Wellington v. Newport	5 Sept 9 May	8-21	D. Williams	Pontochury y Tibbodon		12 Sept. 11 July	
Deserve Division (7)	Weinington V. Newport	Jividy	8-34	H. Martindale	Cathedral v. Shawbury M.E.B. v. Edgmond M.E.B. v. Shawbury Wellington 3rd XI v. Edgmond Cathedral v. Edgmond		25 July	
Reserve Division (7) 139* G. Thompson 126* L. Boyden	Bridghorth v=Oswestry	25 July	7-9 7-17	M. Jordan	M.E.B. v. Edgmond		25 July	
139 * G. Thompson 126 * L. Boyden 125 * R. Gower	Bridgnorth vOswestry Wem v. Shifnal	30 May	7-25	A. D. Rowe P. Gregory R. Martindale	Wellington 3rd XLy, Edgmond		16 May	
125 K. Gower	Wellington v. Oswestry	8 August	7-30	R. Martindale	Cathedral v. Edgmond		30 May 29 August	
115 P. Martin 115 T. Savage	St Georges v Oswestry	2 May 4 July	/-33	G. Daniels C. Batkin	Gae Glas V. Galverhall		15 August	
	Weilington v. Oswestry Weilington v. Shrewsbury St. Georges v. Oswestry Bridgnorth v. Oswestry	25 July	7-35	M. Heal	Prees v. Cae Glas Tibberton v. Cathedral		1 August	
103 * S. Whittall	Shrewsbury v. Newport	1 August	7-48	M. Jarvis	Albrighton v. M.F.B.		16 May 11 July	
Bivision Two (14) 140 M. Wright 135 D. Fowles 124* A. Perry 116 D. Hayward 116* D. Vickers 115 A. Austin			7-49	B. Tait	Albrighton v. Albrighton Shawbury v. Albrighton Calverhall v. Edgmond Harcourt v. Albrighton		4 July	
140 M. Wright	Forton v. B.S.F. Fenns Bank v. Bromfield	13 June 29 August		S. Owen B. Sumner	Shawbury v. Albrighton		5 Sept.	
135 D. POWIES	Bomere Heath v. Ellesmere	15 August	7-64	G. Parkin	Harcourt v. Albrighton		25 April	
116 D. Nayward		22 August	Division	Four (8)	Harcourt V. Albrighton	853	2 May	
116* P. Wood	Much Wenlock v Forton	11 July 1 August	8-15	P. Edwards P. Kinder	Dawley Phoenix v. Glynwed Ludlow 3rd XI v. Glynwed		15 August	
116 D. Vickers 115* A. Austin	Coton Hall v. G.K.N.	16 May	8-37 8-58	P. Kinder S. Upton	Ludlow 3rd XI v. Glynwed		25 July	
115 * R. Smith	Frankton v. Craven Arms Much Wenlock v. Forton Coton Hall v. G.K.N. Bromfield v. Much Wenlock Overton v. Fenns Bank	11 July 30 May	7-30	T. Knowles	Glynwed v. Acton Reynald		1 August	3
114* W. Lawrenson		16 May	7-30	J. Winch	Glynwed v. Acton Reynald Dawley Phoenix v. Hanwood Glynwed v. Bomere Heath 2nd XI		16 May 25 April	36
113* J. James 107* P. Sellars 105 T, Wood	Ellesmere v. Craven Arms Ellesmere v. Frankton Overton v. Much Wenlock	6 June	7-35	T. Knowles	Dawley Phoenix V Acton Revnald		13 June	
105 T. Wood	Ellesmere v. Frankton	8 August	7-37 7-37	J. Lowe L Peart	Ludiow and Al V. Honnet		20 June	
103 M. Lawrenson	Much Wenlock v. Bromfield	27 June 11 July	Division	Five (17)	G.K.N. 2nd XI v. Glynwed		13 June	
101 J. Larking	Madin Weinook V. Bronneid	11 Odly	9-5	M. Jarvis	Albrighton 2nd XI v. M. Wenlock 2nd	~	05 4 - 11	
Division Three (2)	Calverhall v. Cae Glas	15 August	9-33	C. Richards	Much Wenlock 2nd XIV Church Acts		25 April 30 May	
124 D. Sumner 102 * B. Trow	M.E.B. v. Edgmond	9 May	8-24 8-29	J. Barker S. Parnham	Oswestry 3rd XI v. Overton 2nd XI Bridgnorth 3rd XI v. Oswestry 3rd X Newport 3rd XI v. Hanwood	555	5 Sept.	
Division Four (5)				J. Witty	Bridgnorth 3rd XI v. Oswestry 3rd X	l.	27 June	
117 J. Winch	Glynwed v. Dawley Phoenix	30 MEY	8-54	N. Rogers	Church Aston v. Oswestry 3rd XI		25 July 8 August	
115 W. Wiles	Newport 3rd XI v. G.K.N. 2nd XI	20 June 11 July	7-18	M. Jones	N.A.L.G.O. v. Alberbury 2nd XI		12 Sept.	
112 P. Kinder	Ludiow 3rd XI v. Dawley Phoenix	8 August	7-20 7-21	G. Baldwin	Bridgnorth 3rd XI v. N.A.L.G.O.		25 April	
Division Four (5) 117 J. Winch 115 M. Miles 115 J. Withy 112 P. Kinder 103 P. Kinder	Glynwed v. Dawley Phoenix Newport 3rd XI v. G.K.N. 2nd XI Newport 3rd XI v. Quatt Ludlow 3rd XI v. Dawley Phoenix Ludlow 3rd XI v. Hodnet	5 Sept.	7-25	f. Prew 3. Evans	Church Aston v. Alberbury 2nd XI Overton 2nd XI v. M. Wenlock 2nd X		4 July	
Division Five (3)			7-29	. Booth	Church Aston v. Forton 2nd XI	a	27 June 29 August	
Division Five (3) 127 * A. Dibnah 117 * Daye Jones	Cae Glas 2nd XI v. Ellesmere 2nd XI	30 May	7-32	6. Evans (, Nipkiss	Church Aston v. Forton 2nd XI Overton 2nd XI v. Alberbury 2nd XI Cae Glas 2nd XI v. Alberbury 2nd XI Bridgnorth 3rd XI v. M. Wenlock 2nd XI Bridgnorth 3rd XI v. M. Wenlock 2nd XI		1 August	
103 * T. Baker	Forton 2nd XI v. Albrighton 2nd XI Bridgnorth 3rd Xi v. Overton 2nd XI	20 June 30 May		A. MIDKISS A. Caine	Gae Glas 2nd XI v. Ellesmere 2nd XI		30 May	
its in punch		may	7-51		Forton 2nd XI v. Much Wenlock 2nd)		19 Sept.	
			7-59	I. Thomas	M. Wenlock 2nd XI v. Cae Glas 2nd Y	ä e	1 August 29 August	
			7-61	l. Barry	Ellesmere 2nd XI v. Overton 2nd XI	80) B	11 July	

DIVISION ONE AVERAGES 1987

BATTING (qualification 10 innings, average over 30)

Name	Club	Innings		lighest Score	Runs	Average
J. FOSTER	Shrewsbury	20	7	146 *	1020	78.46
D. PARRY	Shrewsbury	12	3	80	400	44.44
S. JOHNSON	Ludlow	18	2	108	693	43.31
R. POOLE	Wroxeter	14	2 ·	94	507	42.25
M. CLAYTOP	Perkins	11	1	99 *	382	38.20
A. BREAKWELL	Bridgnorth	18	3	122 *	564	37.60
R. BURTON	Wroxeter	13	2	125 *	410	37.27
S. GALE	Shrewsbury	18	,5 ·	64*	482	⁰ 37.07
M. DAVIES	Newport	17	2	96 *	537	35.80
T. PARTON	Wellington	17	2	101 *	535	35.66
J. SMITH	Wellington	16	2	99	472	33.71
H. MANACK	Perkins	11		98	366	33.27
A. DENVER	Wellington	10	4	46 *	193	32.16
G. MARK	Bridgnorth	12		89	383	31.91
J. MANACK	Perkins	18	1	67	534	31.41
L. EVANS	Bridgnorth	11	1	54	313	31.30
A. JOHNSON	Shifnal	17	2	144	468	31.20
T. O'CONNOR	Wellington	15	3	57 *	369	30.75
M. JEWELLS	Newport	16	3	83	393	30.23

BOWLING (qualification 20 wickets, average under 19)

Name	Club	Overs	Maidens	Runs W	ickets	Average	
M. JONES	Whitchurch	143.3	28	422	34	12.41	
A. BARNARD	Shrewsbury	155.2	32	433	31	13.96	
R. SETHI	Oswestry	106	13	377	27	13.96	
J. POLLARD	Shrewsbury	222	46	593	41	14.46	
J. SMITH	Wellington	223.2	63	522	34	15.35	
D. WILLIAMSON	Shrewsbury	114.3	33	316	20	15.80	
J. MANACK	Perkins	283.1	72	829	49	16.92	
S. HUGHES	Wem	160	. 34	476	28	17.00	
J. ASPINALL	Wem	195	41	553	32	17.28	
M. CRONIN	Newport	198	45	607	35	17.34	
A. SHELLEY	Shifnal	206.2	44	594	34	17.47	
R. ASTON	Newport	165.1	34	473	27	17.51	
T. DAVIES	Newport	163.4	29	557	31	17.97	
J. ROBERTS	Whitchurch	270.5	70	669	36	18.58	
D. BREAKWELL	Bridgnorth	300	68	935	50	18.70	

,

RESERVE DIVISION AVERAGES 1987

BATTING (qualification 10 innings, average over 26)

Name	Club	Innings	Not Out	Highest Score	Runs	Average
K. PADDINGTON	Shrewsbury	15	5	68 *	490	49.00
R. EVANS	Perkins	12	2	87 *	480	48.00
I. DORAN	Shrewsbury	14	2	94	439	36.58
R. GOWER	Wellington	12	2	125 *	354	35.40
T. SAVAGE	St. Georges	13	2	115	375	34.09
R. WARD	Wroxeter	19	4	74	506	33.73
R. FORDHAM	Newport	17	-	88	55,1	32.41
S. WHITTALL	Shrewsbury	13	2	103 *	349	31.72
R. KELLY	Newport	11	4	56 *	216	30.86
J. HOWELLS	Bridgnorth	19	1	75	546	30.33
N. RUSCOE	Whitchurch	16	9	43 *	201	28.70
R. TEMPERTON	Newport	16	2	51	396	28.29
R. PERRY	Bridgnorth	17	10	38 *	195	27.85
M. GREEN	Shrewsbury	13	1	87 *	329	27.41
M. PERKS	Wellington	12	1	57	292	26.54
P. ANGELOFF	St. Georges	12	1	92 *	290	26.36

BOWLING (qualification 20 wickets, average under 19)

Name	Club	Overs	Maidens	Runs	Wickets	Average
M. ELLIS	Wem	123.1	29	286	26	11.00
W. BROMLEY	Shrewsbury	162.5	36	407	32	12.71
N. RUSCOE	Whitchurch	253.1	90	528	40	13.20
R. PERRY	Bridgnorth	168.4	23	539	39	13.82
K. PUGH	Shrewsbury	147.3	26	416	30	13.86
S. SMITH	Whitchurch	97	21	293	21	13.95
A. BROWN	Wem	284.5	70	696	49	14.20
C. SPEAKE	Perkins	157.5	27	503	35	14.37
K. HAWTON	Bridgnorth	139.2	27	418	29	14.41
R. DAVIES	Shrewsbury	182.3	35	555	37	15.00
S. TAYLOR	Newport	125	22	379	25	15.16
A. PUGH	Whitchurch	118.3	19	353	23	15.34 .
P. GREGORY	Wellington	148.1	39	389	25	15.55
D. DIXON	St. Georges	147	30	410	26	15.76
K. PRICE	Perkins	198	41	564	33	17.09
D. ASKIN	Newport	216.2	48	542	30	18.07
S. BURGOYNE	Ludlow	174	45	500	27	18.51
K. NEWBROOK	St. Georges	154.1	32	490	26	18.84

DIVISION TWO AVERAGES 1987

BATTING (qualification 10 innings, average over 27)

Name	Club	Innings	Not Out	Highest Score	Runs	Average	
J. JAMES	Frankton	13	7 *	113*	358	59.67	S,
W. JONES	B.S.F.	11	8	38 *	169	56.33	
D. HAYWARD	G.K.N.	16	5	116	572	52.00	
M. LAWRENSON	Overton	16	4	114 *	598	49.83	
R: SMITH	Bromfield	18	3	115 *	651	43.40	
D. FOWLES	Fenns Bank	17	2	135	588	39.20	
P. ENGLAND	Overton	11	1	63	368	36.80	
G. CHESTERS	Coton Hall	19	_	98	690	36.31	
T. WOOD	Ellesmere	17	\rightarrow	105	615	36.17	
J. LARKING	Much Wenlock	k 15	3	101	420	35.00	
L. JONES	Craven Arms	14	1.1	89	487	34.79	
P. WOOD	Frankton	18	4	116 *	487	34.79	
E. JONES	Frankton	16	4	60 *	411	34.25	
K. BYWATER	Fenns Bank	15	3	57	398	33.16	
P. NEWBOLD	Forton	15	6	54 *	289	32.10	
T. CLARE	G.K.N.	16	1	72 *	447	29.80	
J. EDGERTON	Coton Hall	19	3	81 *	465	29.06	
R. DOVEY	B.S.F.	15	4	72	319	29.00	
A. AUSTIN	Coton Hall	17	4	115 *	375	28.84	
A. PERRY	Bornere Heath	n 20	3	124 *	490	28.82	
D. NEWBROOK	G.K.N.	15	-	79	430	28.66	
D. VICKERS	Much Wenloc	k 16	-	116	435	27.18	

BOWLING (qualification 20 wickets, average under 18)

Name	Club	Overs	Maidens	Runs	Wickets	Average
S. JONES	B.S.F.	104.5	25	290	30	9.66
P. MAPP	Fenns Bank	161.2	39	549	43	12.76
S. TOMKINSON	Forton	93	13	311	23	13.52
B. EDWARDS	Frankton	241	61	669	49	13.65
A. PERRY	Bomere Heath	344	84	912	65	14.03
E. T. SMITH	Craven Arms	124.3	21	319	22	14.50
N. GITTENS	G.K.N.	128.2	30	372	25	14.88
E PEATE	Coton Hall	158.2	39	419	27	15.51
J. MARTIN	Frankton	228	45	670	43	15.58
A BEARD	Craven Arms	162	49	381	23	16.56
R. DALE	Coton Hall	131.5	36	333	20	16.65
R. MATES	Overton	169.4	29	506	29	17.44
K. McDONALD	Bomere Heath	127.3	27	445	25	17.80

30

DIVISION THREE AVERAGES 1987

BATTING (qualification 10 innings, average over 24)

Name	Club	Innings	Not Out	Highest Score	Runs	Average
K. LEWIS	Tibberton	15	1	92	595	42.50
A. KEMP	Cae Glas	14	3	. 71*	431	39.18
S. RUDD	Cathedral	17	3	87*	540	38.57
N. ROBBINS	Cae Glas	11	4	58 *	252	36.00
B. TROW	M.E.B.	16	5	102 *	384	34.90
N. PARTON	Edgmond	16	_	99	488	30.50
R. PHILLIPS	Harcourt	12	1	91 *	334	30.36
M. BATKIN	Prees	12	1	73	332	30.18
S. ASTON	Shawbury	14	2	53	347	28.91
D. HINTON	Shawbury	14	3	65	303	27.54
C. BATKIN	Prees	10	4	38	165	27.50
R. SYLVESTER	Albrighton	11	1	58	261	26.10
D. SUMNER	Calverhall	16	_	124	408	25.50
R. MARTINDALE	Cathedral	13	4	64*	219	24.33
G. WILLIAMS	Pontesbury	15	2	60 *	315	24.23
M. PEATE	Prees	10	2	53	193	24.12

BOWLING (qualification 20 wickets, average under 16)

Name	Club	Overs	Maidens	Runs	Wickets	Average	•
J. FISHER	Pontesbury	138.1	43	265	38	6.97	
R. SYLVESTER	Albrighton	195.4	.79	351	50	7.02	
A. D. ROWE	M.E.B.	240.3	65	579	62	9.33	
N. BROADBENT	Cae Glas	51.2	5	204	21	9.71	
G. PARKIN	Harcourt	187.5	42	498	44	11.31	
B. SUMNER	Calverhall	91	13	283	25	11.32	
R. MARTINDALE	Cathedral	265.2	69	615	54	11.38	
M. JORDAN	M.E.B.	185.2	44	480	42	11.42	
D. WILLIAMS	Pontesbury	198.2	52	469	41	11.44	
M. JARVIS	Albrighton	157.4	39	408	34	12.00	
R. CARTER	Wellington 3rd XI	168.4	39	467	38	12.28	
J. SHEARS	Prees	114.1	27	335	25	13.40	
H. FOX	Tibberton	194.5	41	566	42	13.47	
M. SUMNER	Calverhall	180.1	37	485	36	13.47	
T. EVANS	Pontesbury	129	35	286	21	13.62	
A. CADWALLADER	Albrighton	119	24	360	26	13.84	
M. MORRIS	Cae Glas	167.2	52	420	28	15.00	
B. TAIT	Edgmond	149	36	357	23	15.52	
R. BATKIN	Prees	160	44	404	26	15.53	
D. SHIMMONS	Albrighton	138.3	37	430	27	15.92	

DIVISION FOUR AVERAGES 1987

BATTING (qualification 10 innings, average over 26)

Name	Club	Innings		Highest Score	Runs	Average	
B. JONES	Quatt	12	3	87 *	495	55.00	
A. MAIDSTONE	Hanwood	18	2	94	690	43.12	×2.5
P. KINDER	Ludlow 3rd XI	15	1	112	579	41.35	
J. B. JONES	Alberbury	15	4	85 *	450	40.90	
S. OAKLEY	Hanwood	17	1	83	577	36.06	
M. STOKES	Newport 3rd XI	13	2	89	394	35.82	
J. WINCH	Glynwed	15	1	117	473	33.78	
R. PRICE	St. Georges 3rd >	(1 14	1	78	435	33.46	
I. CRAWSHAW	Alberbury	15	5	67	328	32.80	
W. FRANCE	Hodnet	16	1	68	477	31.80	
A. OWEN	Acton Reynald	16	3	93*	412	31.69	
S. FRANCE	Hodnet	16	4	60 *	339	28.25	
S. RATCLIFFE	Acton Reynald	14	1	97 *	355	27.30	
N. HUMPHRIES	Hodnet	16	6	88	272	27.20	
T. BEBB	Alberbury	15	7	33	214	26.75	
T. DAVIES	Hanwood	13	1	56	316	26.33	

BOWLING (qualification 20 wickets, average under 16)

Name	Club	Overs	Maidens	Runs	Wickets	Average
P. KINDER	Ludlow 3rd XI	121.5	31	269	27	9.96
J. WINCH	Glynwed	209.4	44	566	55	10.29
J. WESTON	Acton Reynald	161.4	47	354	34	10.41
J. LOWE	Ludlow 3rd XI	91	24	213	20	10.65
T. KNOWLES	Dawley Phoenix	305.1	96	626	57	10.98
G. JOHNSON	Hanwood	187.1	34	543	47	11.55
I. WARD	St. Georges 3rd XI	155	35	398	32	12.43
S. FRANCE	Acton Reynald	181.3	48	414	33	12.54
D. OVERTON	St. Georges 3rd XI	159.4	43	395	31	12.74
P. EDWARDS	Dawley Phoenix	270.4	71	635	49	12.95
D. HAVARD	St. Georges 3rd XI	180	49	366	27	13.55
D. SMALL	Ludlow 3rd XI	182.1	58	468	33	14.18
R. THOMAS	Hodnet	216.5	43	575	39	14.74
G. WILLIAMS	B. Heath 2nd XI	215.5	64	531	36	14.75
P. TALBOT	Hanwood	133	29	414	28	14.78
P. ASTON	Newport 3rd XI	156.2	33	444	30	14.80
I. CRAWSHAW	Alberbury	230.2	62	553	37	14.95
N. HUMPHRIES	Hodnet	191.4	56	454	30	15.13
M. MADDOX	B. Heath 2nd XI	176	37	427	28	15.25
S: O'CALLAGHA	NB. Heath 2nd XI	153.3	42	383	25	15.32

DIVISION FIVE AVERAGES 1987

EATTING (qualification 10 innings, average over 20)

Name	Club	Innings	Not Out	Highest Score	Runs	Average
T. BAKER	Bridgnorth 3rd XI	17	4	103 *	717	55.15
M. JONES	N.A.L.G.O.	14	4	54 *	371	37.10
R. HOLLOWAY	Alberbury 2nd XI	11	2	62	265	29.44
R. A. DAVIES	Overton 2nd XI	14	-	75	408	29.14
A. DIBNAH	Cae Glas 2nd XI	16	1	127 *	422	28.13
S. JONES	Bridanorth 3rd XI	19	1	68 *	489	27.17
C. EVANS	Church Aston	13	3	· 69 *	268	26.80
B. COURTEN	Albrighton 2nd X	I 13	4	35	206	22.88
A. JACKSON	Forton 2nd XI	13	2	79	237	21.54
T. SMITH	Albrighton 2nd XI	12	2	35 *	212	21.20
P. HARRIS	N.A.L.G.O.	18	2	69	323	20.18

EOWLING (qualification 20 wickets, average under 16)

Name	Club	Overs	Maidens	Runs	Wickets	Average
C. HERRIMAN	Forton 2nd XI	100.1	32	168	25	6.72
T. SMITH	Albrighton 2nd XI	94.1	23	279	35	7.97
M. JONES	N.A.L.G.O.	129.1	29	356	43	8.27
S. JONES	Bridgnorth 3rd XI	77.1	19	172	20	8.60
R. WILSON	N.A.L.G.O.	304.1	94	614	70	8.77
S. SOUTHERN	Cae Glas 2nd XI	148.4	39	326	35	9.31
S. EVANS	Overton 2nd XI	123.5	31	333	35	9.51
W. DAVIES	Frankton 2nd XI	186	27	516	48	10.75
T. BOOTH	Church Aston	128.2	37	294	27	10.88
R. BULLOCK	Albrighton 2nd XI	166	57	338	30	11.26
P. BARNETT	Cae Glas 2nd XI	168.1	54	417	36	11.58
J. LOCK	Bridgnorth 3rd XI	119.4	28	349	30	11.63
C. RICHARDS	M. Wenlock 2nd XI	116.2	24	312	26	12.00
R. CLAY	Frankton 2nd XI	164	34	401	32	12.52
W. WEDGE	Church Aston	129.1	25	339	26	13.03
F. SAVAGE	Alberbury 2nd XI	156.1	35	393	30	13.10
G. BALDWIN	Bridgnorth 3rd XI	215.5	59	553	42	13.17
N. ROGERS	Church Aston	113.2	33	278	21	13.23
C. EDWARDS	Alberbury 2nd XI	153	24	470	35	13.42
A. BOUND	Alberbury 2nd XI	126.2	23	383	28	13.67
B. DAVIES	Frankton 2nd XI	140	38	278	20	13.90
S. PARNHAM	Bridgnorth 3rd XI	225.2	53	549	38	14.45
K. HIPKISS	Cae Glas 2nd XI	167.4	37	458	31	14.77
A. MANTLE	N.A.L.G.O.	160	23	454	30	15.13
S. WOOD	Forton 2nd XI	246.4	53	619	39	15.87

32

KNOCKOUT COMPETITION RULES

1.

Object The object of the competition is to promote an eleven-a-side evening Knock-out competition among member clubs of the League. The games will be played according to the M.C.C. Laws of Cricket (1980 Code) modified as under 3 below.

2

Organisation The Shropshire League Knock-out competition shall be open to the twelve Division One clubs together with the four clubs emerging from the qualifying competition to be known as the Shropshire League Village Knock-out. This will be open to all Division Two, Three, Four, Five and Six Clubs (other than second and third elevens) and arranged on an area basis with two clubs emerging from each of two zones. These four qualifiers will also compete as semi-finalists in the Village Knock-out.

- Rules 3.
 - .aw Fach player must be a member of the club he represents and a current Shropshire League player as defined under League (a) rules
 - A player who is a member of more than one club can play only for one club in the competition. (b)
 - Umpires should note that no appeal against the light shall be allowed after the commencement of the second innings unless both captains agree that further play is undesirable. (a)
 - A new ball will not be used, but a suitable re-polished or re-varnished ball of sound quality, which is acceptable to both captains, will be used throughout the game. (a)

Law 12

- (a) (b)
- v 12 Excepting Finals, each side will have one innings consisting of twenty six-ball overs. Provided that both captains agree prior to the commencement of play, the match may be contested over a lesser number of overs in the event of bad weather or a late start. Before the toss for innings, the umpires shall acquaint themselves with the number of overs agreed upon by the two captains. (c) captains. 1 aw 16
- The interval between each innings shall be not more than ten (a) minutes
- minutes. Law 21 (a) A match is won by the side scoring the higher number of runs in the agreed number of overs. In the event of scores being level, the side losing fewer wickets shall be declared the winner. If this is also equal the match is tied and will be replayed on the ground chosen by the visiting team.
- No bowler may bowl more than five overs out of the allotted twenty. If a match of fewer overs is agreed upon, no bowler may bowl more than one quarter of the total. (a)

Restriction on placement of fielders (League K.O. only) At the instant of delivery, a minimum of four fielders (plus bowler and wicket-keeper) must be within an area bounded by two semi-circles, centred on each middle stump, each with a radius of 30 yards and joined by a parallel line on each side of the pitch. In the event of an infringement the square-leg umpire shall call 'no-ball.'

34

The fielding circles may be marked by white painted dots at five yard intervals or if possible by white plastic or rubber (not metal) discs measuring approximately seven inches in diameter.

4.

Q.

- measuring approximately seven inches in diameter.
 Fixtures
 (a) Both Village Knock-out and League Knock-out competitions shall be pre-drawn as far as the semi-final stages and the full draw will be notified to all clubs by the preceding 1st March and printed in the League Handbook.
 (b) The matches shall be played on the ground chosen by the side drawn as the home side.
 (c) Each round of both competitions will be played on a conference date specified by the Knock-out Sub-Committee and printed in the League Handbook. However, in the event of both teams agreeing, the match may be played on an earlier date than that which is laid down in the Rules providing the League Secretary is notified at least forty-eight hours prior to any such rearranged match.
- which is laid down in the Rules providing the League Secretary is notified at least forty-eight hours prior to any such rearranged match. In the event of inclement weather not allowing the match to be completed on the conference date, a revised date (within seven days of the original) must be agreed by both clubs immediately and communicated within 24 hours to a member of the Knockout Sub-Committee by the home club. Failure to agree on a new date will result in the Knockout Sub-Committee defining a date on which the match shall take place. No match shall be played after the conference date other than one rearranged under Rule 4(d). If it is found that clubs do arrange a match after the conference date, both clubs will be expelled from the competition. If either club is unable to play on the conference date and are not able to agree an earlier date they shall forfeit the match. Natches shall normally commence not later than 6.45 p.m. and any side refusing to play shall lose the match. Prompt starts are essential and the toss for innings shall take place at least fifteen minutes before the scheduled starting time of 6.30 p.m. In the event of a team not being available to comply, the opposing team may, if it so wishes, exercise the right to claim the toss. The winning clubs in each round of both competitions shall notify the League Secretary of the result within 48 hours of the fixture taking place. (d)
- (e)
- (f)
- (g)
- (h)
- (i)

5.

6.

- Finals (a) (b)
- als The finals of both competitions shall be played on an afternoon basis on dates to be ratified by the Knock-out sub-committee. A neutral ground selected by the Knock-out sub-committee shall be used. In the event of no ground being available the two sides will toss a coin to decide on a venue of the winner's choosing. The finals shall be played over two innings each side of twenty overs per innings which shall be taken alternately. The league will provide two new balls of good quality for each final.
- (c) (d)
- final. The members of teams competing in finals will be presented with small trophies as mementoes of the occasion. (e)
- Umpires
- (a)
- (b) (c)
- Ipires All League Knockout matches shall be taken charge of by umpires appointed by the Shropshire Association of Cricket Umpires. Umpires for the semi-finals and final of the Village Knockout will be appointed by the Shropshire Association of Cricket Umpires. On request, the Shropshire Association of Cricket Umpires will also endeavour to supply umpires for the qualifying rounds of the Village Knockout.

1986	KNOCKOU	T COMPE	TITION	FIXTURES
	FURROWS	VILLAGE	KNOCK	(OUT
		GROUP 'A'		

	GROUP 'A'					
Preliminary Round - Wednesd	ay, 4th May Prees v. Ellesmere					
1st Qualifying Round Wed. 11th May	2nd Qualifying Round 3rd Qualifying Round Wed. 25th May Wed. 8th June					
A Alberbury v. Occo Cites B Kentin v. Coton Hall	Av. B A or Bv. C or D					
C Hanwood v. Pentesbury D Calvernall v. Fenns Bank	C v. D					
E Shawbury v. Wineteck	Ev.F					
F Hodnet v. Werren G Bomere Heath v. Overton H Brassor Elemmere v. Frankton	E or F v. G or H G v. H					
H Prosser customere v. Hankton	GROUP 'B'					
an is a consumption and a second						
Preliminary Rounds — Wednes Church Aston v. Craven Arr	day, 4th May N.A.L.G.O. v. C.N.					
1st Qualifying Round Wed. 11th May	2nd Qualifying Round 3rd Qualifying Round Wed. 25th May Wed. 8th June					
A Albrighton v. Hercourt B Tibberton v. Much Wentock	A v. B A or B v. C or D					
C Bromfield v. Quatt D MEB. v. Acton Reynald	G v. D					
E Dawley Phoenix v. Clymred F Edgmond v. N.A.L.G.O.						
G Cathedral v.	E or F v. G or H					
H B.S.F. v Glauch Aston	G v. H					
Semi Finals (To be	drawn): Wednesday, 6th July					
Final: Sunday	, 14th August (at Wem)					
SHROPSHIRE JOU	JRNAL LEAGUE KNOCKOUT					
1st Bound	2nd Round					
Wed. 29th June	Thurs. 14th July					
Wed. 28th June						
A Shifnal v. Ludlow B St. Georges v. Perkins	Av. B					
C Newport v. Winners of E o v. G or H Group 'B' Match						
D Whitchurch v. Wem						
E Winners of E or F v. G or h	1					
Group 'A' Match v. Bridgn						
F Wroxeter v. Oswestry						
G Winners of A or B v C or I						
Group 'A' Match v. Wellin H Shrewsbury v. Winners of A or B v C or D Group 'B'	Match					
Semi Finals : (To be	e Drawn): Wednesday, 27th July					
Final : Bank Holiday M	onday 29th August (at Wellington)					
The four qualifiers from the Furrows Village Knockout Competition are included in the draw for the 1st Round Proper of the Shropshire Journal League Knockout Competition.						

1987 KNOCKOUT COMPETITION RESULTS

1987 KNOCKOUT COMPETITION RESULTS SHROPSHIRE JOURNAL LEAGUE KNOCKOUT GUP FINAL Monday, 31st August, 1987, at Wellington. Wellington won by 58 runs Wellington 111-4 (P. Martin 40, J. Smith 30) Whitchurch 68-7 (M. Prince 3-18, C. Black 2-18) Wellington 93-3 (T. Parton 30⁺) Whitchurch 78-9 (M. Jones 22, M. Rowley 4-13) Man of the Match : M. Rowley, Wellington Losing semi-finalists : St. Georges and Newport FURROWS VILLAGE KNOCKOUT CUP FINAL Formows VilLade Involution for Titler Sunday, 13th September at Whitchurch, Fenns Bank won by 15 runs Fenns Bank 122-7 (K. Bywater 41, P. Stokes 3-23, M. Wright 3-26) Forton 78-9 (Dave Jones 21, P. Mapp 5-17) Fenns Bank 83-8 (P. Mapp 48, P. Stoke 3-14, V. Wright 3-8) Forton 112-7 (Dave Jones 38 *, M. Wright 37, P. Mapp 4-10) Man of the Match : P. Mapp, Fenns Bank Losing semi-finalists : M.E.B. and Albrighton

PREVIOUS YEARS' FINALISTS

Runners up

LEAGUE KNOCKOUT

Winners

Rolls Royce Newport 1970 Newport/Fenns Bank (TIE) 1971 Bridgnorth 1972 St. Georges St. Georges 1973 Newport **Rolls Royce** 1974 Shrewsbury 1975 St. Georges 1976 1977 Shrewsbury 1978 Shrewsbury Shrewsbury 1979 Wroxeter 1980 Shrewsbury 1981 Shrewsbury 1982 Whitchurch 1983 Shrewsbury 1984 Shrewsbury 1985 Wroxeter Wroxeter 1986 Wellington 1987 VILLAGE KNOCKOUT Bomere Heath 1981 1982 Frankton Craven Arms Shawbury 1983 1984 Bomere Heath 1985 Bomere Heath 1986 1987 Fenns Bank

Wellington Shifnal Shrewsbury Ludlow Newport Whitchurch St. Georges Wroxeter Wroxeter

Newport Newport Shrewsbury Whitchurch

Fenns Bank Albrighton Coton Hall Craven Arms G.K.N. Overton

Forton

37

36

.

LEAGUE CLUB SECRETARIES

Acton Reynald	G. HUGHES, 16 Stokesay Avenue, Heath Farm, Shrewsbury. Tel.: Shrewsbury 246832
Alberbury	W. T. JONES, 4 Westbourne Rise, Bayston Hill, Shrewsbury. Tel.: Bayston Hill 2011
Albrighton	B. COURTEN, 2 Bader Road, Pinecroft, Perton, Wolverhampton. Tel.: Wolverhampton 743345
Bomere Neath	M. R. COALES, Magnolia Cottage, Shrewsbury Road, Bomere Heath. Tel.: Bomere Heath 290423
Bridgnorth	D. PRYKE, 71 Duchess Drive, Bridgnorth. Tel.: Bridgnorth 3533
Bromfield	M. J. E. TEECE, Broughshane, Burway Road, Church Stretton. Tel.: Church Stretton 722021
B.S.F.	P. K. STARLING, 5 Barnet Close, Wellington. Tel.: Telford 55467
Cae Glas	H. ROBERTS, 2 Hampton Rise, Oswestry. Tel.: Oswestry 654728
Galverhall	D. P. FOX, 9 New Street Lane, Market Drayton. Tel.: Calverhall 663
Cathedral	R. W. WOLF, 29 Canon Street, Cherry Orchard, Shrewsbury. Tel.: Shrewsbury 67232
Church Aston	R. W. G. BOTT, 66 Limekiln Lane, Lilleshall, Newport. Tel.: Telford 604935
Condover	R. SOMERVILLE, 3 Condover Park, Condover, Shrewsbury. Tel.: Dorrington 352
Coton Hall	K. W. G. BATHO, Tonsberg, Clive, Shrewsbury. Tel.: Clive 370
Graven Arms	E. J. SMITH, Mynd Cottage, Aston-on-Clun, Craven Arms. Tel.: Craven Arms 3797
Dawley Phoenix	C. HAYWARD, 33 Parish Close, Dawley, Telford Tel.: Telford 592323
Edgmond	MRS. L. WALKER, 16 High Street, Edgmond, Newport Tel.: Newport 813137
Ellesmere	P. E. GILL, 42 Cambria Avenue, Ellesmere. Tel.: Ellesmere 2793
Fenns Bank	J. W. FRANCIS, Jeabrook, School Lane, Bronington, Whitchurch. Tel.: Redbrook Maelor 415
Forton	K. WILLIAMS, 11 Mere Close, Newport. Tel.: Newport 812344
Frankton	K. MARTIN, 9 Greyfriars, Oswestry. Tel.: Oswestry 661277
Glynwed	D. MARSHALL, 10 Woodland Close, Albrighton. Tel.: Albrighton 2345
Hanwood	G. JOHNSON, 17 Grangefields Road, Shrewsbury. Tel.: Shrewsbury 60819
Narcourt	K. PRICE, 39 St. Andrews Road, Collegefields, Shrewsbury. Tel.: Shrewsbury 240961
Ninstock	K. R. BRAILSFORD, Fir Tree Cottage, 7 Chester Road, Hinstock, Market Drayton. Tel.: Sambrook 448
	and the second se

Hodnet	J. C. FRANCE, 2 Drayton Road, Hodnet, Market Drayton Tel.: Hodnet 619
Knockin	A. P. BUTCHER, "Newlyn", Stanford Lane, Halfway House, Shrewsbury. Tel.: Shrewsbury 884549
Ludlow	J. HERN, 4 Castle View Terrace, Ludlow. Tel.: Ludlow 4852
Madeley	M. SHIRES, 66 Westbourne, Woodside, Telford. Tel.: Telford 582406
M.E.B.	G. A. DAVIES, 32 Broadway, Ketley, Telford. Tel.: Telford 47816
Much Wenlock	M. HOLDEN, Manor House, Much Wenlock. Tel.: Much Wenlock 727870
N.A.L.G.O.	J. W. REES, 67 King Street, Shrewsbury. Tel.: Shrewsbury 232255 Ext. 229 (Work)
Newport	R. D. TEMPERTON, The Red Cottage, Newport Road, Edgmond, Newport. Tel.: Newport 820041
Oswestry	A. F. STRATFORD, 19 Mount Crescent, Oswestry. Tel.: Oswestry 653555
Overton	E. WILLIAMŞ, 1 Haydock Road, Bangor-on-Dee, Wrexham. Tel.: Bangor-on-Dee 780503
Perkins	N. WILLIAMS, 70 Sundorne Crescent, Shrewsbury. Tel.: Great Bolas 483 (work).
Pontesbury	G. WILLIAMS, 15 Salcombe Drive, Shrewsbury Tel.: Shrewsbury 58320
Prees	H. T. C. BATKIN, New House Farm, Marchamley, Shrewsbury. Tel.: Hodnet 288
Quatt	P. SHRIMPTON, 83 Dunvall Road, Bridgnorth. Tel.: Bridgnorth 4476
St. Georges	C. GLASSEY, 5 Park Close, St. Georges, Telford Tel.: Telford 618258
Shawbury	MRS. K. PARRY, 36 White Lodge Park, Shawbury, Shrewsbury. Tel.: Shawbury 250593
Shifnal	F. W. JONES, 21 Grosvenor Gardens, Shifnal. Tel.: Telford 460355
Shrewsbury	Wg. Cdr. H. R. JOHNS, 'Ataka', Mytton Turn, Forton Heat, Shrewsbury. Tel.: Shrewsbury 850460
Tibberton	P. LEWIS, 30 Teme Avenue, Wellington, Telford. Tel.: Telford 55294
Warren	J. CALDECOTT, 7 Sandringham Close, Market Drayton Tel.: Market Drayton 2792
Wellington ·	P. B. BYRAM, Dunnough, 111 Haygate Road, Wellington, Telford. Tel.: Telford 42613
Wem	A. BROWN, 5 Trentham Road, Wem. Tel.: Wem 32120
Whitchurch	MRS. J. M. KNOTT, Leasholme, Lighteach Road, Prees, Whitchurch. Tel.: Whitchurch 840968
Wroxeter	W. S. COOKE, Maresol, Berrington, Shrewsbury. Tel.: Cross Houses 359

39

38

.

	Captain and WEEKEND C	ONTACTS Contact Captain or Secretary	Ludlow 1st XI 2nd XI 3rd XI	J. S. Johnson (Ch. Stretton 722655) J. S. Hern (Ludlow 4852) M. Burgoyne (Marshbrook 365)	Captains or Ground (Lu
Alberbury	S. France (Hadnall 535)	Captains or Secretary	M.E.B.	G. A. Davies (Telford 47816)	Captain or Shrewsbury
1st XI 2nd XI Albrighton	T. Bebb (Yockleton 212) C. Edwards (Shrewsbury 850957)		Much Wenlock 1st XI 2nd XI	D. Vickers (Telford 727158) R. Palin (Telford 618741)	Captains or (Much Wenl
1st XI 2nd XI	D. Connacher (Codsall 2267) B. Courten (Wolverhampton 743345)	Captains or P. Wilson (Albrighton 2585)	N.A.L.G.O.	M. Hall (Shrewsbury 248039)	Captain. Gro (Shrewsbury
Bomere Heath 1st XI 2nd XI	D. Bunting (Bornere Heath 290404) M. Maddox (Bornere Heath 290258)	M. Coales (B.H. 290423) A. Humphreys (Bomere Heath 290588)	Newport 1st XI 2nd XI 3rd XI	M. Jewels (Great Chatwell 444) N. Curtiss (Newport 810179) J. Witty (Newport 81446)	Captains Ground (Newport 81
Bridgnorth 1st XI 2nd XI 3rd XI	J. Golightly (Telford 884152) R. Evans (Bridgnorth 3438) A. Edgington (Bridgnorth 66920)	Captains Ground (B'north 4919)	Oswestry 1st XI 2nd XI 3rd XI	J. Phillips (Overton 332) D. Humphreys (Oswestry 652889) R. Beaman (Oswestry 659166) R. Beaman (Oswestry 65956)	Captains Ground (Oswestry 6
Bromfield 1st XI 2nd XI	G. Richards (Munslow 634) D. Burford (Seifton 333 - Work)	Secretary or D. Gwilliam (Church Stretton 722587) or J. Morgan (Craven Arms 2383)	4th XI Overton 1st XI 2nd XI	R. Wildgoose (Oswestry 650554) M. Lawrenson (Overton 219) C. Evans (Ruabon 823581)	Captains or (Overton 363 (Ruabon 82
B.S.F. Cae Glas	G. Cook (Telford 54678)	G. Allen (Telford 503439) Captains or P. Barnett	Perkins 1st XI	J. Manack	B. Lucas
1st XI 2nd XI	J. Potts (Oswestry 656084) P. Jones (Oswestry 661493)	(Oswestry 654734) or Secretary	2nd XI 3rd XI Pontesbury	B. Kitson (Shrewsbury 67836) P. Strefford (Shrewsbury 50244)	(Shrewsbur
Calverhall	K. R. Neville (Whitchurch 840752)	Captain or B. Sumner (Calverhall 334)	1st XI 2nd XI	H. Robinson (Shrewsbury 791769) T. Evans (Shrewsbury 790270)	Captains or (Shrewsbur
Cathedral Church Aston	D. Thomas (Shrewsbury-247606) T. Booth (Newport 811760)	Captain or Secretary Captain or J. Stork (Newport 812153)	Prees Quatt	M. Arthan (Market Drayton 2687) B. Jones (Quatt 780963)	M. Batkin (D. Johns (B G. Evans (B
Condover 2nd XI	J. Cope (Shrewsbury 67346)	Secretary or J. Mansell (Bayston Hill 2594)	St. Georges 1st XI 2nd XI	D. Nock (Telford 618075) K. Newbrook (Telford 585912) D. Overton (Telford 606218)	Captains Ground
Coton Hall	N. Beardmore (Redbrook Maelor 279) C. Lippitt (Longville 405)	Captain or G. Chesters (Whitchurch 840577) A. Beard	3rd XI Shawbury	D. Overton (Telford 606218) D. Hinton (Shrewsbury 59985)	(Telford 61 Captain or (Shawbury
Craven Arms C. Lippitt (Longville 405) Dawley Phoenix M. Davies (Telford 501226)	(Craven Arms 3725) Captain or Secretary	K. Humphreys (Telford 610823)	G. Evans		
Dawley Phoenix		or J. Richards (Telford 593719)	1st XI 2nd XI	I. Ramsay (Shrewsbury 241118)	(Telford 46 Ground (Te
Edgmond Ellesmere	I. Lovatt (Newport 812454) D. Ralphs (Wem 32874)	Captain or Secretary Captains	Shrewsbury 1st XI 2nd XI	A. Barnard (Shrewsbury 232031) R. Davies	Captains. ((Shrewsbu
1st XI 2nd XI Fenns Bank	N. Brookes (Ellesmere 3319)	t d	3rd XI Tibberton	C. Jones (Shrewsbury 66395) H. Fox	Secretary (Telford 60
1st XI 2nd XI Forton	K. Bywater (Whitchurch 74488) T. E. Faulkner	J, Faulkner (Whitchurch 74384)	Warren	A. Watkiss (Market Drayton 3441)	A. Hunter (Market Di
1st XI 2nd XI	Don Jones (Newport 813794) V. Wright (Newport 815839)	Captains	Wellington 1st XI 2nd XI	J. Smith (Telford 506828) M. Perks (Telford 49640)	M. Read (T Ground (T
Frankton 1st XI 2nd XI	E. Jones (Shawbury 250274) N. Rogers (Ellesmere 3653)	Captains or Secretary Captain or K. Ball	3rd XI Wem	M. Perks (Telford 49640) I. Tyrer (Telford 53609) B. Perry (Shrewsbury 53142)	Captains o
Glynwed	G. Langford (Telford 615612)	(Telford 613777) Captain or S. Johnson	1st XI 2nd XI Whitchurch	T. Healey (Wem 33843)	(Wem 333)
Hanwood	A. E. Davies (Shrewsbury 65831)	(Shrewsbury 860125) Captain or R. Phillips	1st XI 2nd XI	C. Mapp (Mold 59480) T. Pugh (Bunbury 260127)	Captains of D. Ashley
Harcourt	G. Parkin (Lee Brockhurst 285) R. Gough (Tern Hill 285)	(Clive 258) Captain or Secretary or	3rd XI	N. Williams (Market Drayton 5617)	(Whitchur Ground (W
Hinstock	D, Tunks (Hodnet 794)	D. Bailey (Sambrook 228) Captain or Hodnet W.M.C.	Wroxeter 1st XI	D. Elcock (Upton Magna 306) R. Ward (Shawbury 250308)	Captains (
Hodnet Knockin	P. Higginson (Baschurch 260944)	(Hodnet 331) Captain or G. Harris	2nd XI	H. Ward (Snawbury 20000)	(Uppingto Ground (L
NIDONII		(Knockin 393)			

ê

or Secretary Ludlow 3244)

r ry 4920

or I. Higgs enlock 727589) Ground oury 53659)

810403)

653006)

or N. Woolley 363) or C. Austin 820392)

oury 874235)

or R. Challinor bury 790615) n (Hodnet 288) (B'gnorth 3710) (B'gnorth 5639)

612911) or S. Owen iry 250315)

460314) (Telford 462033)

a, Ground bury 63655)

ry or R. Watkins 607758) er Drayton 5501)

(Telford 461836) (Telford 51539)

s or D. Walker 3327)

s or Secretary or ey urch 5114) (Whitchurch 3923)

is or R. A. Jones gton 276) I (Uppington 214)

40

.

UMPIRES PANEL

PANEL ORGANISER : Mike Sheehy, 167 Lancaster Road, Heath Farm, Shrewsbury.

Tel.: Shrewsbury 61651. PANEL MEMBERS :

Neville Birch, 8 Port Hill Close, Shrewsbury. Tel.: Shrewsbury 3650. Eric Fidlin, 21 The Drive, Swinfen Hall, Lichfield. Tel.: Lichfield 480185. Ian Forrester, 1 The Grove, Baschurch Road, Bomere Heath. Tel.: Bornere Heath 291042.

Bryan Foulkes, 'Inglefield', Four Crosses, Llanymynech. Tel.: Llanymynech 830266.

Eddie Gardner, 32 Conduit Lane, Bridgnorth. Tel.: Bridgnorth 2085. Glyn Goodwin, Court House Farm, Richards Castle, Ludlow. Tel.: Richards Castle 242.

Ken Hughes, 102 Haygate Road, Wellington. Tel.: Telford 54447. Tony Jones, 62 Ardern Avenue, Dawley. Tel.: Telford 501408 Bert Langford, 9 Avenue Road South, Newport. Tel.: Newport 811057. Bill Moss, 11 Grosvenor Gardens, Shifnal. Tel.: Telford 460725. Tom Parker, 11 Hopton Drive, Sundorne, Shrewsbury. Tel.: Shrewsbury 65353. Dave Partridge, 10 Stretton Close, Telford. Tel.: Telford 585695. Dave Roberts, 13 Clun Close, Wellington. Tel.: Telford 3084. Ken Roberts, 'Rexton', West Street, Oswestry. Tel.: Oswestry 659145. Mike Sheehy, 167 Lancaster Road, Heath Farm, Shrewsbury.

Tel.: Shrewsbury 61651. Clive Smith, 12 Upper Road, Meole Brace, Shrewsbury. Tel.: Shrewsbury 55383.

Jim Strachan, 50 Audley Road, Newport. Tel.: Newport 813666. Robert Talbot, 28 Maslan Crescent, Tibberton. Tel.: Sambrook 598. Peter Tudor, 15 Clun Close, Wellington. Tel.; Telford 4893. Jack Wilson, 6 Primrose Drive, Sutton Park, Shrewsbury,

Tel.: Shrewsbury 249969

SHROPSHIRE ASSOCIATION OF CRICKET UMPIRES The Division One Umpires Panel is organised by the Shropshire Association of Cricket Umpires.

It is hoped that a panel could be provided for each division of the League, but this is entirely dependent upon the availability of competent, trained officials. It can happen if every League Club provides at least one person for training.

The Association provides courses during February and March each year at Wellington Cricket Club when all prospective umpires are welcome. Dave Roberts - Chairman

Mike Sheehy — Secretary/Treasurer

1987 LEAGUE REPRESENTATIVE MATCHES LEAGUE CRICKET CONFERENCE, PRESIDENT'S TROPHY NATIONAL KNOCKOUT COMPETITION

1st Round. Sunday, 21st June, at Shrewsbury. Won by 6 wickets. South Cheshire Cricket Alliance 131-7 (J. Manack 3-15, P. Lloyd 2-12) Shropshire League 133-4 (K. Humphreys 42, A. Johnson 33*, M. Davies 22 D. Williamson 21)

2nd Round. Sunday, 5th July, at Whitchurch. Won by 8 wickets Derbyshire & Cheshire League 112 (J. Aspinall 4-10, B. Perry 2-21, N. Goodwin 2-26) Shropshire League 119-2 (J. Aspinall 41, R. Sparrow 30*, T. Parton 27*)

3rd Round. Sunday, 26th July, at Wem. Lost by 5 wickets. Shropshire League 116 (A. Johnson 22) County Alliance League 117-5 (J. Manack 4-24)

MIBLANDS CLUB CRICKET CONFERENCE INTER LEAGUE KNOCKOUT COMPETITION

1st Round. Thursday, 21st May, at Lilleshall. Won by 169 runs. Shropshire League 245-6 (M. Davies 118*, K. Humphreys 52) Border Counties League 76 (J. Manack 6-33, P. Lloyd 3-7)

2nd Round. Thursday, 18th June at Bridgnorth. Abandoned, won on faster scoring rate. Shropshire League 216-3 (S. Gale 54 *, J. Foster 44, K. Humphreys 36, D. Ashley 31 *, M. Davies 30)

South Staffordshire Cricket League 69-2

3rd Round. Friday, 24th July, at Perkins. Won by 3 runs. Shropshire League 194 (A. Johnson 70, K. Humphreys 40) Leicestershire Club Cricket League 191 (J. Manack 4-37, J. Pollard 3-50)
Semi-Final. Friday, 7th August, at Perkins. Won by 8 wickets. Burton League 150-9 (A. Barnard 4-25, J. Pollard 2-17, Leice 2000)

J. Smith 2-32) Shropshire League 151-2 (J. Foster 62, S. Gale 28 *, K. Humphreys 21)

Final. Wednesday, 2nd September, at New Road, Worcester. Won by 99 runs. Shropshire League 222-3 (J. Foster 61, K. Humphreys 50, M. Davies 45 *, S. Gale 39)
Chesshire Gibson League 123 (J. Manack 4-26, A. Barnard 3-24,

J. Pollard 2-18)

OTHER MATCHES

 Wellington 170-7 (G. Chesters 2-5, D. Hayward 2-35)
 Lower Division XI 171-9 (E. Peate 33, D. Vickers 29, K. Lewis 21, G. Chesters 21)

Sunday, 2nd August at Wem. Leauge XI lost by 58 runs. Wem 207-6 Lower Division XI 149 (D. Hayward 38, G. Chesters 30)

43



DAVID BUNTING FARM SUPPLIES

Supplier of agro-chemicals

dairy hygiene products

and farm sundries

Oldberrow Windsor Lane Bomere Heath Shrewsbury. Tel.: Bomere Heath 290404

44

SHREWSBURY OFFICE SERVICES

Photocopying Plan Printing - Enlarging & Reducing Printing and Duplicating of all descriptions Temporary and permanent staff agency 8a COLLEGE HILL, SHREWSBURY Telephone : 57251 and 241049

E. G. FOULKES & SON LTD.

The Old Brewery Kingsland Road Shrewsbury

Egg and poultry packers and wholesalers Shops, hotels, restaurants supplied Telephone: Shrewsbury 3091/62669

E. C. C. QUARRIES LTD.

For Agricultural Limestone, Roadstone Sand and Gravel COUNTRYSIDE for

lor

Reconstructed Stone, Paving and Screen Tel.: MUCH WENLOCK (0952) 727324



SUPPORTERS OF PERKINS CRICKET CLUB

46

GRAEME SEATON SPORTS

6 MARKET SQUARE, WELLINGTON, TELFORD, SHROPSNIRE Telephone : 52259

also at THE MALL, TELFORD TOWN CENTRE Telephone : 504877

See our superb range of : BATS & EQUIPMENT by Gray-Nicholls Stuart Surridge Gunn & Moore Slazenger

CLOTHING by Bukta Ken Barrington

BOOTS by Winit Adidas Patrick. Inter Undoubtedly the best selection in the county BIG DISCOUNTS AVAILABLE TO SHROPSNIRE LEAGUE CLUBS

HERN, WATERS & CO. INSURANCE BROKERS

Professional Advice
 Market Knowledge
 An Independent Approach
 Personal Service
 Life Assurance : Pensions : Accident : Fire : Motor
 Business Risks : Household : Holiday : Farm Risks
 20 Broad Street, Ludlow, Shropshire
 Telephone : Ludlow 3000 & 5000



STUART MASON SPORTS

(Sports & Leisure Equipment)

Specialists in First Class Cricket Equipment for : SCHOOLS, CLUBS, ORGANISATIONS & INDIVIDUALS

1-3 Belle Vue Road, Wrexham, Clwyd Tel.: (0978) 359891
33 Wrexham Street, Mold, Clwyd Tel.: (0352) 700277
WREXHAM TROPHY CENTRE Tel.: (0978) 361853

SHARPE'S CLASSIC GREETINGS CARDS

John Baker Telephone : Longville (06943) 311

, e

